Ograjni
sistemi

STAINLESS STEEL / ALUMINIUM / GLASS

Aiieg

2021/2022






C
"
” 'T'f-?;-'_-vﬁhhf"‘ - —
TRT L e
P2

) (LGAR

ol te‘;tnla:' AbP‘ ﬂ‘ ; Static Stupio GAImin




o

FRAMELESS
GLASS RAILING

POST
RAILING

GLASS
CLAMPS

92



4 COMPONENTS

GLASS
SYSTEMS

S

226










e
Y
e — T, T T O e
el
JEE=——— S ———
| — e -
| ——c - =
= e i
| - -
|
It
1 - " e
- :I” -

i




U PROFILE AL/0004

TOP MOUNT AL/0004-A

FIX AL/0004-ECO
AL/0008

F PROFILE AL/0006

TOP MOUNT AL/0006-ECO

FIX

U PROFILE AL/0005-D

SIDE MOUNT AL/0009

FIX

Y PROFILE AL/0011

SIDE MOUNT

FIX




A14/0773-000

A14/0773-000

At
AL/000...

N
AL/..-OUT

'AL/..-Drain

N
AL/0004...

A14/0772-000

A14/0772-000

\\
A19/0004-D...

'A19/0004-D...

AL/0004...
AL/0008...

A19/000...

\
VSG/ESG
GS/16,76...

M
AL/0004...
AL/0008...

AL/..-Drain

A19/00...

o

,
" VsG/ESG
GS/16,76...

AL/0005...
AL/0009...

Q5/08...

*,

P

N
AL/0003...




: o y . glass t . £ ol
Material  Finish Effect art. L G/h 1525 &3 kg/m T ’@\ 11
AL/0004-1250-S-E 1250
AL/0004-2500-5-E 2500 E
siver AL/0004-5000-6-E 5000 Tos 9
AL/0004-A-5000-S-E 5000 w0
- — 12-21,52
AL/0004-6000-S-E g000 TkN 6 "_"i
> =— —
AL/0004-1250-5-VA 1250 "('5
0004-2500-5-VA 2500 o
INOX ol : S o
AL/0004-5000-S-VA é
5000
AL/0004-5000-S-VA-EXCLUSIVE
AL/0004-EC0O-2500-S-E 2500
silver AL/0004-EC0-5000-5-E 5000
AL/0004-ECO-6000-5-E 6000 kN 122152 48
- AL/0004-ECO-2500-S-EB 2500
EC] . ; e
AL/0004-ECO-5000-S-EB 5000
AL/0008-2500-S-E 2500
siiver a 21522552 44
— !
AL/0008-5000-5-E 5000
1
! ! N ; . glass t . 2 .. 14
Material  Finish Effect art L G/h Mg kg/m "'T'\ PV
AL/0006-1250-S-E 1250
AL/0006-2500-S-E 2500 12.21,62
silver i 1KN 7.6
AL/0006-5000-S-E 5000 — Tog
AL/0006-6000-S-E 6000
AL/0006-ECO-2500-S-E 2500
silver AL/0006-ECO-5000-S-E 5000
AL/O006-ECO-6000-5-E go00 kN 122152 5.9
. AL/0006-ECO-2500-S-EB 2500
=l o
AL/0006-ECO-5000-S-EB 5000
]
y . : glass t ; i
Material Finish Effect art. L G/h — ka/m "’1“‘ :@‘
AL/0005-D-1250-S-E 1250
AL/0005-D-2500-S-E 2500
silver
AL/0005-D-5000-S-E 5000 ey 122152 -
AL/0005-D-6000-S-E 8000 —
AL/0005-D-2500-S-EB 2500
black : _
AL/0005-D-5000-S-EB 5000
AL/0009-2500-S-E 2500
silver R
AL/0009-5000-S-E 5000
]
. - lass t gt
terial  Finish Effect 1 L /t E ka/ = (5]
Materia nish ec ar G/h 122552 a/m rT'\ AR
AL/0011-1250-N-E 1250
AL/0011-2500-N-E 2500
AL/0011-5000-N-E 5000 w1221 - i
AL/0011-6000-N-E 6000 —
AL/0011-2500-N-EB 2500
black =
AL/0011-5000-N-EB 5000




=3
e
w
%
]
2
o
2

Material Finish Effect

silver

INOX

Material Finish  Effect

silver

INOX

art

AL/0004-1250-S-E
AL/0004-2500-S-E
AL/0004-5000-S-E
AL/0004-6000-S-E
AL/0004-A-5000-S-E
AL/0004-1250-S-VA
AL/0004-2500-S-VA
AL/0004-5000-S-VA
AL/0004-5000-5-VA-EXCLUSIVE

art

AL/0034-004-S-E

| AL/0034-004-S-VA
AL/0034-004-S-VA-EX

1250
2500

6000
5000
1250
2500

5000

1205

AbP

malaaT
= T

50
100

50

50

100

L2

200

100

ES o\ STATIC STUDIO RlS

E

TESTED BY

L
{
|
214
Fr '
gimn; = 7
T E— L2 ;
G/h glass t 0
AL/G004._ Drain
1kN  12,00-21,52

Matenal Effect

silver

Finish

INOX

10

art
AL/0004-S-E-90-IN
AL/0004-S-VA-90-IN
AL/0004-S-VA-EX-90-IN
AL/O004-IN-ATYP

Material

Finish

Effect

silver

INOX

AL/0004-S-E-90-0UT
AL/0004-5-VA-90-OUT
AL/0004-S-VA-EX-90-OUT
AL/0004-OUT-ATYP.



25 A19/0004-012-02.5
i 5 A19/0004-012-05.0 %} _

25 A19/0004-012-25.0 ,f
2,5 A19/0004-013-02.5 F'X-SET |

573 5 A19/0004-013-05.0
25 A19/0004-013-25.0
25 A19/0004-017-02.5 I

15778 5 A19/0004-017-05.0
25 A19/0004-017-25.0
o5 A19/0004-018-02.5 A19/0004-rubber F-.. —— ———— A19/0004-rubber...

1_?’52 11 A19/0004-018-05.0
25 A19/0004-018-25.0
2,5 A19/0004-021-02.5 # .,

20,76 jd .

1 5 A19/0004-021-05.0 s ™
A19/0004-L A19/0004-plast...

25 A19/0004-021-25.0 (4pes/m) p—— (4pes/m)
25 A19/0004-022-02.5

21.' ey = A19/0004-022-05.0
25 A19/0004-022-25.0
A19/0004-F-G-02.5 25 A19/0004-17-18-G-02.5 2.5

Mbor gray A19/0004-F-G-05.0 5 12-21,52 ﬂl-lhber gray A19/0004-17-18-G-05.0 5 16,76-17,52

A19/0004-F-G-25.0 25 A19/0004-17-18-G-25.0 25

Interier/ Interior Interiér/ Interior

black A19/0004-D-B-100

S 100 12-21,52
gray A19/0004-D-G-100

11



12

AL/0004-A

=
(=
(=]
(=]
¥
<

I
i

AL/glass-mont

silver AL/0004-S-E-Drain

INOX AL/0004-S-VA-Drain AL/0004-6000..

art ompatibility \\ AL/0004-...
AL/0004-1250...

AL/0004-2500..,
AL/0004-5000...

AL/0004-...Drain

Do N

- Y

11pes/m
Spcs/m 1pes/2,5m

5pes/m

F




Quality

VSG/ESG
66.2

VSG/ESG
88.2

VSG/ESG
88.2

VSG/ESG
88.2

art.

GS/12,76-100x60-VSG/ESG

GS/12,76-100x70-VSG/ESG

GS/12,76-100x80-VSG/ESG

GS/12,76-100x90-VSG/ESG

GS/12,76-100x95-VSG/ESG

GS/12,76-100x100-VSG/ESG

GS/16,76-100x40-VSG/ESG

GS/16,76-100x50-VSG/ESG

GS/16,76-100x60-VSG/ESG

GS/16,76-100x70-VSG/ESG

GS/16,76-100x80-VSG/ESG

GS/16,76-100x90-VSG/ESG

GS/16,76-100x95-VSG/ESG
GS/16,76-100x100-VSG/ESG

GS/16,76-110x60-VSG/ESG

GS/16,76-110x70-VSG/ESG

GS/16,76-110x80-VSG/ESG

GS/16,76-110x90-VSG/ESG

GS/16,76-110x95-VSG/ESG

GS/16,76-110x100-VSG/ESG

GS/16,76-120x40-VSG/ESG

GS/16,76-120x50-VSG/ESG

GS/16,76-120x60-VSG/ESG

GS/16,76-120x70-VSG/ESG

GS/16,76-120x80-VSG/ESG

GS/16,76-120x90-VSG/ESG

GS/16,76-120x95-VSG/ESG

GS/16,76-120x100-VSG/ESG

GS/16,76-120x110-VSG/ESG

12,76

16,76

16,76

16,76

1000

1000

1100

1200

600
700
800
200
250
1000
400
500
600
700
800
200
950
1000
600
700
800
200
250
1000
400
500
600
700
800
200
950
1000

1100

13

=
i
o
(3]
-
L
O.
o
o
-
<L




14

silver

m satin  A/0004-ECO-Drain

UM satin

black

silver
black AL/0034-004-ECO-S-EB

sllver
black

AL/0004-ECO-2500-S-E
AL/0004-ECO-5000-S-E
AL/0004-ECO-6000-S-E
AL/0004-ECO-2500-S-EB
AL/0004-ECO-5000-S-EB

AL/0034-004-ECO-S-E

A/0034-004-ECO

AL/0004-ECO-S-E-90-IN
AL/0004-ECO-5-EB-90-IN

2500
5000
6000
2500
5000

120.4

{
P20 |I
S R |
W —t—r —t+—
i : S = !
s 155 |
L 200
50
100
100 1kN 12,00-21,52
50
100

silvar
black
267
33,5 200
1
T T T T
® R
++4 ++4 +
b o he ot

4x =87

AL/0D04-ECO-..-SE
AL/0004-ECO-.. -S-EB

51

25,5

2,5

AL/0004-ECO-S-E-90-0UT
AL/0004-ECO-5-EB-90-OUT

>

e

Y

AL/0004-ECO-,

AL/0004-ECO-Drain




2,5 A19/0004-012-02.5 -
1= 5 A19/0004-012-05.0 % - f

25 A19/0004-012-25.0 F'X-SET |
25 A19/0004-013-02.5

L 5 A19/0004-013-05.0
25 A19/0004-013-25.0
25 A19/0004-017-02.5 :

_1 6_'?6 5 A19/0004-017-05.0
25 A19/0004-017-25.0
25 A19/0004-018-02.5 A19/0004-rubber F-.. —— T—— A19/0004-rubber...

17,02 5 A19/0004-018-05.0
25 A19/0004-018-25.0

20,76 25 A19/0004-021-02.5 .
5 A19/0004-021-05.0 / \
25 A19/0004-021-25.0 2 Fd ™~

= 25 A19/0004-022-02.5 A:‘?;:;(;:‘}L }:K A19.;2§§;|r‘)nl)ast__

f 5 A19/0004-022-05.0 -
25 A19/0004-022-25.0
A19/0004-F-G-02.5 25 A19/0004-17-18-G-02.5 2,5
Rubber gray A19/0004-F-G-05.0 5 12-21,52 Rubber gray A19/0004-17-18-G-05.0 5 16,76-17,52
A19/0004-F-G-25.0 25 A19/0004-17-18-G-25.0 25
Interier/ Interior Interiér/ Interior
—
black A19/0004-D-B-100 P o m ”ﬁ“ A19/005-pin

gray A19/0004-D-G-100

L3

. 2 E| 34-35

|
h Spes/m Spos/m Spes/m

| |
T

o]
3]
ul
<
o
=]
o
5
<

I

Uy

Spes/m 5pes/m Spes/m 1pes/2,5m

15



MODEL. 0008 STATIC STUDIO el

11
=
m
o«
S glass 1
w
o L
D ]
c
(a1
ﬁ §
§ |14|
N R oam 7
60 | 200 i
Material Finish Effect art L L1 G/h glass t
AL/0008-2500-5-E 2500 50
siver 3KN 21,52-25,52
AL/0008-5000-S-E 5000 100

Q/03-...

| Material Finish Effect arl

JASDEED el sver ALoossaosse

Material  Finish Effect art. | Material  Finish Effect art

JANODZED S iver  AL/OO0BSESOIN NODZED SSi |  iver  AL/000BSES0OUT

16



0008
Pring,
Fix. |
25 A19/0004-012-02.5 SET !
21'52_ it A19/0004-012-05.0
25 A19/0004-012-25.0
2.5 A19/0004-017-02.5
2800 -3 A19/0004-017-05.0
25 A19/0004-017-25.0 A19/0004-rubber F-.. — | —— A19/0004-rubber...
.-/ \\_
- |. / =
A19/0004-L A19/0004-plast...
(4pes/m) (4pcs/m)
e -
A19/0004-F-G-02.5 25 A19/0004-17-18-G-02.5 2.5
Rubber gray A19/0004-F-G-05.0 5 12-21,52 Rubber gray A19/0004-17-18-G-05.0 5 16,76-17 .52
A19/0004-F-G-25.0 25 A19/0004-17-18-G-25.0 25
Interier/Interior Interiér/Interior

black A19/0004-D-B-100
Rubber 100 12-21,52
gray A19/0004-D-G-100

I ANCHORS JIEE E| 34-35

Spes/m 1pes/2,5m




LGARY
tested| STATIC STUDIO

=
m
z
w
5
o L {
o
)
8
= AL AL
L1 L 200 g
Material Finish Effect art. L L1 G/h glass t
AL/00086-1250-S-E 1250
AL/0006-2500-S-E 2500 50
silver 1kN 12,00-21,52
AL/0006-5000-S-E 5000 100 zo:ﬂﬂ-

AL/0006-6000-S-E 6000

1 1
Material  Finish Effect art Material Finish Effect art.

_ silver  AL/0006-S-E-90-IN _ silver ~ AL/O006-S-E-90-OUT

26T
335 200
| 1 T T i T
< = '-|H|- JLH LJ
1 o G
5 16
6 4x =67
Material Finish art. compatibility A B Pcs/m
A/0006-ECO-Drain  AL/00D06-.. -S-E 100 76 2,5
s AL/0008-ECO-Drain

18




MEBBER 0006

Material Finish  Effect art.

AL/0034-006-S-E
silver
AL/0035-006-5-E

-

—~

Material Finish Effect art

AL/0034-006-K-S-E
silver
AL/0035-006-K-S-E
S

i EE\L s
e
(o]
Material Finish Effect art. L
AL/0026-2500-5-E 2500
siiver AL/0026-5000-S-E 5000
AL/0026-6000-S-E 6000

AL/0034-006...

AL/0035-006...

AL/0034-008-K. ..

AL/0026-~..,

AL/00D35-008-K...

A24/0006-002

Qg9/03-...

19

—
—

="
g
<



2,5 A19/0004-012-02.5
e 5 A19/0004-012-05.0 Perrrng,
25 A19/0004-012-25.0 i ,f
E
25 A19/0004-013-02.5 'X‘SET
1278 5 A19/0004-013-05.0
25 A19/0004-013-25.0
25 A19/0004-017-02.5 ;
1620 5 A19/0004-017-05.0
25 A19/0004-017-25.0
A12/0004-rubber F-... — | T A19/0004-rubber...
25 A19/0004-018-02.5
1?'52_ 5 A19/0004-018-05.0
25 A19/0004-018-25.0
\\
25  A19/0004-021-02.5 ra R
20,76 o g
5 A19/0004-021-05.0 e A19/0004-plast...
A19/0004-L (4pcs/m)
25  A19/0004-021-25.0 (4pes/m) £ |
2.5 A19/0004-022-02.5
i
& 52 5 A19/0004-022-05.0
25 A19/0004-022-25.0
A19/0004-F-G-02.5 2.5 A19/0004-17-18-G-02.5 2.5
'R'tibb_dr’ gray A19/0004-F-G-05.0 5 12-21,52 Rnbber gray A19/0004-17-18-G-05.0 5 16,76-17 52
! A19/0004-F-G-25.0 25 A19/0004-17-18-G-25.0 25
Interiér/Interior Interiér/Interior

~ black A19/0004-D-B-100
gray A19/0004-D-G-100

100 12-21,62




AL/0026-...

i ——y |

5pes/m

€S

>, ’

A24/0006-003
2pcs/m

Spes/m 5pes/m

I 2 El 34-35

Spcs/m Specs/m 1pcs/m

ANCHORS JI[E=5 EI 34-35

1pes/m

+

1pcs/2,5m

1pcs/2,5m




MODE 0006-ECO

T

]

|

|

1

- III

& |

P 'fl

o |

2o ' - \

] L T = T 1 o |

o ks ; I

T T
P Ll loiss
102 &} 200
AL/O006-ECO-2500.SE 2500 50
siver AL/OD06-ECO-5000-S-E 5000 100
m satin AL/0O006-ECO-6000-S-E 6000 100 kN 12,00-21,52
AL/O006-ECO-2500-6EB 2500 50
black

AL/0006-ECO-5000-SEB 5000 100

siver  AL/000B-ECO-S-E-90-IN .~ siver AL/OOD6-ECO-S-E-90-OUT
D tin
black  AL/0006-ECO-S-EB-90-IN ol . black AL/0006-ECO-S-EB-90-0UT

335 200

A
4 ] E
: R

A—
t+

hy
g

Ax =67

é

- AL/000B-ECO-. SE
I - »ocoscconmin M/O00CECOSE 100 76 25

J AL/0006-ECO.
o Cl AL/0008-ECO-Drain

22



Material Finish Effect art

AL/0034-006-ECO-S-E
sllver
AL/0035-006-ECO-S-E

AL/0034-006-ECO-S-EB
black
AL/0035-006-ECO-S-EB

A/0034-006-ECO
AlSI304 i
A/0035-006-ECO

=

ipra

Material Finish Effect art.

AL/0034-006-ECO-K-S-E
silver

AL/0035-006-ECO-K-S-E
AL/0034-006-ECO-K-S-EB
black
AL/0035-006-ECO-K-S-EB

A/0034-006-ECO-K

AlSI304

A/0035-006-ECO-K

d &

Material Finish Effect art.

37,3

AL/0026-2500-S-E
silver m002_6-50006-E

.ALIOOZMOOO-SLE

AL/0026-2500-S-EB

black
AL/0026-5000-S-EB

Quality  Finish art

PVC gray

A24/0005-008

2500

5000

6000

2500
5000

AL/0034-006-ECO...
A/0034-008-ECO

AL/0035-006-ECO...

A/0035-006-ECO

AL/0028-2500-S...

AL/0034-006-ECO-K...
A/0034-006-ECO-K

AL/0035-006-ECO-K...
A/0035-006-ECO-K

A24,/0006-002

A24/0005-008

23

—
—

.
g
2




24

25 A19/0004-012-02.5

= 5 A19/0004-012-05.0

25 A19/0004-012-25.0

25 A19/0004-013-02.5

bl 5 A19/0004-013-05.0

25 A19/0004-013-25.0

25 A19/0004-017-02.5

15,78 5 A19/0004-017-05.0

25 A19/0004-017-25.0

25 A19/0004-018-02.5

g 5 A19/0004-018-05.0

25 A19/0004-018-25.0

2076 25 A19/0004-021-02.5

5 A19/0004-021-05.0

25 A19/0004-021-25.0

25 A19/0004-022-02.5

g0 5 A19/0004-022-05.0

25 A19/0004-022-25.0
A19/0004-F-G-02.5 2,5
Rubber gray A19/0004-F-G-05.0 5
. A19/0004-F-G-25.0 25

Interier/Interior

black A19/0004-D-B-100
gray A19/0004-D-G-100

100

12-21,52

12-21,52

A19/0004-L
(4pes/m)

A19/0004-rubber F-... —

——— A19/0004-rubber...

_ ~ A19/0004-plast...
D (4pes/m)

AN —

A19/0004-17-18-G-02.5
Rubber gray A19/0004-17-18-G-05.0
A19/0004-17-18-G-25.0

I
Interiér/Interior

16,76-17,52




AL/0006-ECO’

AL/0006-ECO?

AL/0006-ECO*

L@ o

AL/0026-.. A24,/0006-003

v Zpcs/m Spes/m Spes/m 1pecs/m 1pcs/2,5m

ot 1o I

A24/0005 -
4400 ANCHORS [l 3 EI 34-35
Spes/m Spes/m Spes/m Spcs/m
Spes/m Spes/m Spes/m Spes/m 1pes/2,5m
I"- - :
- g
| — -
ANCHORS [l EI 34-35
Spes/m
Spes/m Spes/m 1pes/m 1pes/2,5m




AL/0005-D-1250-S-E

ey AL/0005-D-2500-S-E
AL/0005-D-5000-5-E
AL/0005-D-6000-S-E
back AL/0005-D-2500-S-EB
AL/0005-D-5000-5-EB
siver  AL/0034-005-D-S-E
black AL/0034-005-D-S-EB

‘l.
\

ANODIZED = _opin | 1 /0005-007

PVC

gray A24/0005-007

1250
2500
5000
6000
2500
5000

silver

black

AL/0005-D-S-E-90-IN

AL/0005-D-S-EB-90-IN

125

1kN

glasst

1204

60,5

LGARY sramicstuvio RISE

1
L1 250 |

12,00 - 21,52

AL/0005-007
AZ24/0005-007

-

satin

silver

black

AL/0005-D-S-E-90-0UT
AL/0005-D-S-EB-90-0UT



2,5 A19/0004-012-02.5 -
12 %-'
_ 5 A19/0004-012-05.0 _ aéf
25 A19/0004-012-25.0 pmsﬁ_r |
2,5 A19/0004-013-02.5
.12‘?6_ 5 A19/0004-013-05.0
25 A19/0004-013-25.0
2,5 A19/0004-017-02.5
16,78 5 A19/0004-017-05.0 i
25 A19/0004-017-25.0
25 A19/0004-018-02.5 — ——— A19/0004-rubber...
1098 5 A18/0004-018-05.0
25 A19/0004-018-25.0
25 A19/0004-021-02.5 .
20,76 ) N
: 5 A19/0004-021-05.0 : / S
25 A19/0004-021-25.0 A19/0004-L A19/0004-plast...
{4pes/m) (4pcs/m)
2,5 A19/0004-022-02.5
. 21,52 5 A19/0004-022-05.0
25 A19/0004-022-25.0
A19/0004-F-G02.5 2,5 | A19/0004-17-18-G-02.5 2.5
Rubber gray A19/0004-F-G-050 5  12.21,52 Rubber gray A19/0004-17-18-G-05.0 5  16,76-17,52
A19/0004F-G-250 25 e A19/0004-17-18-G-25.0 25
IiiafiérInitarior Interiér/Interior
ikl
:—‘: 98
il
bt
& o
~ !
. 47 3 » |
T
VRIS satin @ A/6920-005 2500 v aey AL/0044-2500SE 2500
il
AL/0044-50005-E 5000
AL/0044-2500-S-EB 2500
black

AL/0044-5000-S-EB 5000

27



Q9/03-0,2x9

o L

AL/0005-~...Drain

AL/0005-S-E-1250-Drain  AL/0005-D-1250-5-E 1250
AL/0005-D-2500-S-E
- AL/0005-D-5000-S-E
AL/0005-S-E-2500-Drain 4 "/0005.D-6000-S-E

silver

2500
AL/0005-D-2500-S-EB

black AL/0005-S-EB-2500-Drain AL/0005-D-5000-5-EB

_  black A19/0004-D-B-100
Rubber 100 12-21,52
gray A19/0004-D-G-100

Spes/m

&
0
(=]
=]
o
3
<

Specs/m 1pes/2,5m




ALUMINIUM Sy Nox

silver ALUMINIUM satin | INOX - Exclusive

:_ mmfg satin = black

silver

29



STATIC STUDIO

lass t

=
i
1%
7
i
T
fo)
o
o
z

L1 150

Wiﬁﬁ?m
|
(R
N
¥

Ve

80
Material Finish Effect art. L L1 G/h glass t
AL/0009-2500-S-E 2500 50
silver : 3kN 21,52-25,52
AL/0009-5000-5-E 5000 100
AL/0005-007
A24/0005-007
AL/0008. ..

| Material Finish Effect art. . | Material  Finish art.

AL/0005-007

siiver  AL/0038-004-S-E
PVC gray A24/0005-007

Material  Finish Effect art. Material  Finish Effect art

_ siver  AL/O009-S-E-90-IN _ silver  AL/0009-S-E-90-OUT




2.5 A19/0004-012-02.5 Fix-sey |
21,02 5 A19/0004-012-05.0
25 A19/0004-012-25.0
2.5 A19/0004-017-02.5
28,80 5 A19/0004-017-05.0
25 A19/0004-017-25.0 A19/0004-rubber F-.. —| —— A19/0004-rubber...
A19/0004-L A19/0004-plast...
(4pcs/m) : (4pecs/m)
T
A19/0004-F-G-02.5 25 | A19/0004-17-18-G02.5 2.5
Rubber gray A19/0004-F-G-05.0 5 12-21,52 Rubber gray A19/0004-17-18-G-050 5  16.76-17,52
A19/0004-F-G-25.0 25 | A19/0004-17-18-G-25.0 25
Interiér/Interior Intenér/Interior

_ black A19/0004-D-B-100
Rubber 100  12-21,52
gray A19/0004-D-G-100

.- iy El 34-35

7 pes/m 1pes/2m

o
(=]
o
e
3
<




AL/0011-1250-N-E
AL/0011-2500-N-E
AL/0011-5000-N-E
AL/0011-6000-N-E
AL/0011-2500-N-EB
AL/0011-5000-N-EB

AL/0034-011-S-E

black AL/0034-011-S-EB

AL/0011-N-E-90-IN

1250
2500
5000
6000
2500
5000

50
100

50
100

LGARY

tested

STATIC STUDIO

120

200

o Al | %i _.C},
o o,
g ¥
) L1 |_ 200
Lofr
1kMN 12-21,562
14,4
O |
]
&
49
Sk AL/0045-2500-5-E 2500
1]
AL/0045-5000-5-E 5000
black AL/0045-2500-S-EB 2500
AL/0045-5000-5-EB 5000

silver

black

AL/0011-N-E-90-0UT
AL/0011-N-EB-90-OUT



25 A19/0004-012-02.5 ' g o/
2 5 A19/0004-012-05.0 .
F’X-sEr J
25 A19/0004-012-25.0
25 A19/0004-013-02.5
1,76 5 A19/0004-013-05.0
25 A19/0004-013-25.0
25 A19/0004-017-02.5
16,78 5 A19/0004-017-05.0 / .
A19/0004-rubber F-... ~ A19/0004-rubber...
25 A19/0004-017-25.0
2,5 A19/0004-018-02.5
17,22 5 A19/0004-018-05.0
. ¥
25 A18/0004-018-25.0 ; / ™~
2076 2,5 A19/0004-021-02.5 - / N
i A19/0004-L A19/0004-plast...
5 A19/0004-021-05.0 s reAon
25 A19/0004-021-25.0
25 A19/0004-022-02.5
~ighi 5 A19/0004-022-05.0
25 A18/0004-022-25.0
A19/0004.F-G-02.5 2.5 A19/0004-17-18:G02.5 25
Rubber gray A19/0004-F-G-05.0 5 19.91.52 Rubber gray A19/0004-17-18-G-050 5  16.76.17.52
_ A19/0004-F-G-25.0 25 : A19/0004-17-18-G250 25
Interiér/Interior Interiér/Interiar

black A19/0004-D-B-100
Rubber 100 12-21,52
gray A19/0004-D-G-100

- ‘%’ +

e EI 34-35

Spes/m

5pes/m 5pes/m 1pes/m 1pes/2,5m




34

AL/0004-A

o
(]
-
<
=]
=]
<]
e
.
<

AL/0006-ECO' AL/00067 AL/0006' AL/0008

AL/0006-ECO?

=alli=a

NON-CERTIFIED ANCHORS

A5/08-
-105x11xM8

A18/27-M10

A5/08-
-105x11xM8

A-DIN 975 M12

A-DIN 975 M12

A-DIN 975 M12

A18/27-M10

Q5/01TK-300

Q5/01TK-300

Q5/01TK-300

Q5/01TK-300

Q5/01TK-300

Q5/01TK-300

Q5/01TK-300

FASTENERS
W-DIN 7991
M8x20-P
W-DIN 7991-Ad
M8x20-P
A-DIN 7380-A2 A-DIN 125-A2
M10x20 M10
DIN 7380
| M10x20 8.8-Zn DI Te 10-2h
A4-DIN 7380 A-DIN 125-A2
M10x20 M10

DIN 7991
| M12x30 8.82n
A4-DIN 7991
M12x30
ADIN 125-A2
A-DIN 934 M12 s
ADIN 1587-A2 ADIN 125-A2
M12
ADIN 125-A2
A-DIN 934 M12 e
A-DIN 7380-A2 ADIN 125-A2
M10x20 M10
DIN 7380
M10x20 8.8-Zn DiNjd 2231020
A4-DIN 7380 ADIN 125-A2
M10x20 M10

CERTIFIED ANCHORS - ETA option1 *

Q5/08-VHG-
-MB-100/S...

A5/08-VI-IG-
-MB-100/A4...

Q5/08-VIHG-
-M10-80/5. ..

AS/08-VI-IG-
-M10-80/A4_..

Q5/08-VIHG-
-M12-125/S...

A5/08VIHIG-

-M12-125/A4... |

Q5/08-VM 250-
-M12-135...

AS5/08-VM 250-

| -M12-135-Ad...

Q5/08-VM 250-
M12-135.__.

A5/08-VM 250-

| M12-135-Ad... |

Q5/08-VHG-
-M10-80/5.,
A5/0BVHG-
-M10-80/A4...

Q5/01-WIT-
-UH300...
Q5/01-WIT-
-UHS00...

Q5/01-WIT-
-UH300...
Q5/01-WIT-
-UH300...

Q5/01-WIT-

UH300...

Q5/01-WIT-
-UH300...

Q5/01-WIT-
-V 250...
Q5/01-WIT-
-V 250...

Q5/01-WIT-
VM 250...
Q5/01-WIT-
VM 250...

Q5/01-WIT-
-UH300...

Q5/01-WIT-
-UH300...

Q5/-08-
-FH12-50%*
A14/08-
-FH12-50%
Q5/08-HAZ-
-M8-80SK/S... |

AS/08-HAZ-
-MB-BOSK/A4...

Q5/08-FH12-50

A14/08-FH12-50

Q5/08-HAZ-
M8-855/S..
AB/0B-HAZ-
-M8-855/Ad., **

Q5/08-HAZ-

-M8-855/5...

AS5/08-HAZ-
-MB-855/Ad...



1 el

NON-CERTIFIED ANCHORS

IN

| .-eco? |

AL/0006-ECO?

AS5/08-
-105x11xM8

| i
|
- 8

o
uwn
o
(=]
<]
=iy
=

AS5/08-
-105x11xM8

AL/0009

A-DIN 975 M12

=
(=]
2
|
= IN
"l | ouT
(] |
1 IN
ouT

: | OUT | A-DIN 875 M12
IN

Q5/01TK-300
[DIN 933 M10x30
8.8-Zn

A4-DIN 933
M10x30

Q5/01TK-300
W-DIN 7891
MEx20-P

| W-DIN 7991-A4
MBx20-P

Q5/01TK-300

DIN 7991
M12x30 8.8-Zn

A4-DIN 7981
M12x30

Q5/01TK-300

certification "ETA option1” for cracked and uncracked concrete
certification "ETA option7" for uncracked concrete only

without screw
" forload £ 0,7kN

FASTENERS

A-DIN 1587-A2
M2

A-DIN 834 M12

[HIRE

CERTIFIED ANCHORS - ETA option1 *

=
—_—
A-DIN 125-A2
M12
Q5/08-VHG-
DIN 9021 10-Zn| P/H'207™
A-DIN 9021-A2 | A5/08VHG-
M10 -M10-80/A4_..
Q5/08-VHG-
-M8-100/S...
A5/08VHG-
-M8-100/A4_..
Q5/08-VHG-
M12-125/5..
A5/08-VHG-
| M12-125/Ad..
A-DIN 125-A2
M12 _
Q5/08-VM 250-
M12-135..
A5/08-YM 250-
M12-135-Ad. .

Q5,/08-HAZ-
-M8-855/S... |
A5/08-HAZ-

| -MB-855/A4._.

Q5/01-WIT-

-UH300...

Q5/01-WIT-

-UH300...

Q5,/08-HAZ-
-M10-106S/S. .. |
A5/08-HAZ-
-M10-106S/A4...|

Q5/01-WIT-

-UH300...

Q5/01-WIT-

-UH300... ,
Q5/08-FH12-50
A14/08-FH12-50

Q5/08-HAZ- |
-M8-80SK/S...
A5/08-HAZ-
-M8-80SK/A4...|

Q5/01-WIT-

-UH300...

Q5/01-WIT-

-UH200...

Q5/01-WIT-

VM 250...

Q5/01-WIT-

VM 250...

Q5,/-08-
FBN12-30.. %
A-Q5/08-
FBN12-30...%"
Q5,/08-HAZ-
M8-855/S...
A5/08-HAZ-
-M8-855/A4..

i,

min

TRl |

Please refer to the respective certificates or your sales
representative for specifications such as mounting detail or
glass dimensions

35



-
—

AL PROFILE SYSTEM

36

AL/0004-...

AL/0OO8-...

AL/O006-...

1250

2500

5000

2500

5000

1250

2500

5000

25

50

100

50

100

25

50

100

L2

200

200

L3 L4
126

250
125




AL/0011-...

L1

125

25

50

100

L2

250

150

200

125

125

125

L4

250

250

—
e

Z
=
'EJ:'-.
a
2







FLEX MOUNT

FIX MOUNT

SQARE MODELS

DOUBLE ADAPTERS

DOUBLE ADAPTERS




= h »
. S 5-18
~
it P s ’/f////
= oo = r s
¥ LSy
" /,f//‘f’ |
P ’//’/// > 12
< A o g
A —|Glass i A/O747-FLEX1-B

A/OT742-FLEX1 40 >12 M10x45 B-17,52 18 20

AlSI304 BREETH fiat A/O74B-FLEX1-B 30 =10 M8x40 6-12,76 13 15
A/O747-FLEX1-B 50 =12 M10x130 8-17,52 17 20
o>
h Gless |
. /] -
= -|-|-—————— l—o| o

AISI304 [ A/OTAT-FLEX2 Tos
‘satin  fiat 50 3858 MI0x125 817,52 17 20 |
AISI316 A14/0747-FLEX2
<>
.
1 (e
R A
E z
i
) t
A/0747-501 FLEX2 4247 Lot
(\EELPY satin @ flat  A/O747-502 FLEX2 50 3237 Mi0x40 81752 25 30
A/0747-503 FLEX2 52.57
h .. Glasst
o
1
. il
” k g:
A/0742-FLEX3
&~
h Glass t 21
. e
7 33 (=
P (@
} I._l-Z ™

A/O747-FLEX3
A/OT42-FLEX3 40 18,5 22
AlISI304
A/OT747-FLEX3
flat 42-50 M10x40 B8-17,52
A14/0747-FLEX3 50 25 30

AISI316 §

polish A14/0747-FLEX3-L




AISI316
ZAMAK

Quality

AISI316

ZAMAK

Quality

AISI316

art
A/0742-000
A/0747-000-S

A/OT47-000
A/OT49-000

A/0748-000
A/0747-000-L
A14/0747-000
ZN/0747-000

Finish

art

A/0746-000
A/0746-300
A/0746-400
A/0746-500
A/0747-300
A/0747-400
A/0747-500
A/0746-000-L

i DTa-000
~ A14/0747-300

ZN/0746-000

Finish

A/0763-000
A/0764-000

A14/0763-000
A14/0764-000

40

I _ _ _ - L
=z i —$ Tl n
. ’ i
& _45
D h M glasst d glass hole
M10x100 18,5
50 M8xd5 g 17 52
17
50 M10x45 Tof
80 10 M10x100 8-21,52 185 20
70
Mi10x45 8-17,52 17
50
h | Glass t
=] - - k ko
3] h M glass t d glass h
15 M8x40
30 M8xB80
30 6-12,76 13 15
40 M8xB0
50 MBx80
30 M10x70
50 40 M10x90 8-17,52 18 20
50 M10x20
15 M8x40
30 6-12,76 13 15
15 MBx40
50 30 Mi0x70 8-17,52 18 20
30 15 M8x40 6-12,76 13 15
h Glass 1
= — |
3 ™,
c § @\
D h M glass t d glass hole
30 6-12,76
40 8-17,52
10 M10x50 13 18
30 6-12,76
8-17,52

40

41



h Glass T

art D h M glass t d glass hole
33,7 A/0746-033 13 Max50
30 6-12,76 13 15
A/OT46-042 15 M8x40
AlSI304 =
454 A/0749-042 60 10 M10x125 B-17,52 185 20
" A/0748-242 70 10 M10xBO  8-17,52 17 20
AISI316 | A14/0746-042 30 15 M8x40 812,76 13 15
h Glass
T
)
=
Il _ |
I |
=
= i
Quality  Finish art D h M glass t d glass hole
A/O742-042 40 18,5
AlSI304 =
42,4  A/O747-242 i 10 M10x40 8-17,52 1 20

AlSI316 | A14/0747-242

42



FIX

h : Glass t

==
d
D

M glass t d alass hole

Lualit

| A/0745-300 30
AlSI304 | satin fiat A/0745-500 40 50 M10x100 B-17.52 16 18

A/0745-D30

/r

N

SOOI

SN

i

i

s

L7

oy

A/O746-...

A/0745-D30

usizos BETT

——-I—h -
f
{

L
RGM3210 [
Juality  Finist art M /
RGM3210 32 25 A/O745-...
o 5

C
PV S RGM4210 42



44

EEET satin | ao7aspiate

[\EELPY  satin -~ A/O747-plate

D487

#oald fo
8 = =
el
12,5

8
3
!
*—7
< o
=
3
=

YL  satin | A/O746-front

L]
]

10.5

@30

11

D14

RN,
@50

A/0747-plate
A/0747-front

T

A. <]
T

i

A-DIN 7991-A2 M6x8
A/0O747-S-FRONT A/O747-plate
A-DIN 913-A2 M8x... YA

A/0131-M6




@13
@11

black A19/46-Black

0746-...
white  A19/46-White 4
A-DIN 913-A2 M8x20 "
A-DIN 913-A2 M8x80
AlSI304
A-DIN 913-A2 M10x35 5
A-DIN 913-A2 M10x100
a
*_f_f d
) :/
1 50]:
G £
=
| . GS/16,76-98x100-VSG/ESG 980

' GS/16,76-133x100-VSG/ESG 1335

1000 4x25 925 92,5

®10,5
@7
D4

@28

black
white

A19/47-Black

7 A/OTAT-...
A19/47-White

20 37

20 A-DIN 9210 M8x60-A2 8 60

80 A-DIN 9210 M10x100-A2 10 100 30 57
35

100

A19/27-M8 8 1
140 15
A19/27-M10 10 13

16,76

45



50 8-17.52

1 I

= i I:__ g
O
D1
\B)\ S 3
o™
1 H
|l
10
42
50 8-17.52
[ TH 3
H | =
11 -
\®\ 8 8
10 "-”
20
D 10
/_¢\ mLE
@1
\G)\ _% T ++
2XM
art D H
A/2746-000 plate T10mm 40 190
A/2747-000 plate T10mm 50 200 .. 8-13,52
o
=
b u
N —
r =
g & 3
™
Lo
o o~
_1[ (f)__ —
50 | 32

AISI316 A14/3000-000




’ art h L glass t
v g

-

GS/FRB6-133x100-16,76-747 1000 1000 16,76 VSG/ESG

art h L

glass t

GS/FRB6-133x100-16,76-745 1000 1000 18,76 VSG/ESG

L glass

GS/FRB6-133x100-16,7-2747 1000

art h L glass t

GS/FRB6-133x100-16,7-2740 1000 1000 16,76 VSG/ESG

1000 16,76 VBG/ESG

47







FLEX MODELS

FIXMODELS

SQARE MODELS

ROUND MODELS

POSTS



50

Eei

AISI316 @

| A14/6220-014
. A14/6220-018

polish A14/6200-000-C-L
 satin ']Azzlazoo-oooc

. - I )
I A/6100-0008
; A14/6100-000-B

polish  A14/6100-000-B-L

45 50
GLASS t
PLASTIC
BLACK
3
P 3
, . 3
4x @11 0103
12,0-13,5
16,0-17,5

STATIC STUDIO
50 50
GLASS t
RUBBER Y
BLACK }
-\\' 1
'-\H_:__‘," : o
=71
0
| | |
|HH
| I
1kN 12-17 .52
STATIC STUDIO
Gl GLASS
RUBBER ) g ‘ 7
BLACK A ‘
— % |
]
I =l
o 4
- Al
A
I
@ 98
1kN 12-17 .52



o

186

1
40 35 ||

L I i | I | | I I
—J—l——@” 0100
Quality Fin 1y Gi 155 glass hul?
AlSI304 12-17,52 15
o = A h{ i
1 l
o105 @103
Quality Finish art | H spigot Quality Finish art spigot
AISI304 ' A/4511-050 20 A/6200-000-C AlISI304 A/0512-050 A/B100-...
52.5 i
A14/4511-050 22 A14/6200-000-C AlISI316 A14/0512-050 A14/8100-...
A14/4511-050-B A22/6200-000-C
5.5 21
A14/4511-050-B-L A14/6200-000-C-L
D84—01 7:52 2 8-17,52
0 040
32 o o
n !
wy wy
) >
O uy
2w 5 ot
B8 2 |
T T ! 96 I
09é
Quality art Glass Quality F art Glass
AlSI304 GS/16,76-98x100-VSG/ESG AlSI304 B A/6400-040-plate GS/16,76-...
8-17,52
1000
42,4 &
=2
(/R
10 g
[T ]
! o
v w
' ~| o
=
@105
Quality Finish art Glass Quality
AISI316 A14/6300-000 GS/16,76-98x100-VSG/ESG GS/16,76-98x100-VSG/ESG 16,76

51






42
@ 48
@ 25

@ 50 LED

80x40

40x40
50x40
60x40
25x21

18x12
22x9

22x16
26x20
28x26




A19/5042-008
A19/5042-208
A19/5042-011
A19/5042-211
A19/5042-016
A19/5042-216
A19/5042-021
A19/5042-221
A19/5042-G-016
A19/5042-G-216

\'I
X ==
A/6925-042-1250 1250
A/6925-042 2500 ,/
AISI304 g
fEN /0920042 5000 Log Rubber black
A/6921-042 6000
A14/6920-042 5000
AISI316
polish A14/6920-042-L 5000
gray
"
n
- ¥
g
p=1
 A/6732-042 Lofr
. A14/6732-042
30
uy
N A | F
¥ ¢_ 3!
=
L=
(3]
©
©
A/6313-042
 A14/6313-042
30
-
! w)
N s
o
=t
X )
8 |
| [ ad
| |
1
]

satin A14/6303-042

AISI316

54

- A/6790-042

. A14/6790-042

L
b, 24
8,0-11,0 5
11,6-13,5 4.5
18,0-17,56 4,2
20,76-21,52 3,5
16,0175 4,2
-}

2500
5000
2500
5000
2500
5000
2500
5000
2500
5000

@42,4x1,5

?C’{f\



\\
—"
@ 42,4x1.5

Quality  Finish art
A/6302-042
A14/6302-042

@ 42,4x1.5
1

5'.55.

Quality Finish art

AISI304 A/6312-042

AISI316 A14/6312-042

T

@55

| Quality art

AISI316 ' A14/6505-042

D42, 4x1.5

Quality Fir art

A14/6727-042 AW

55



PV
- AL/6920-042 3000
S /6925042 6000
..J o
22,
e

satin | AL/6732-042

D46

Sisbar

Rubber

e ..\ EL

@ 42,4x2

black

gray

satin

lhummuu satin  AL/6313-042

hwm satin  AL/6505-042

56

A19/5042-008
A19/5042-208
A19/5042-011
A19/5042-211
A19/5042-016
A19/5042-216
A19/5042-021
A19/5042-221
A19/5042-G-016
A19/5042-G-216

AL/6790-042

f 24

24
8,0-11,0 5 S
5000
11,56-135 45 o
5000
16,0-17.5 4,2 200
i ¢ 5000
20,76-21,52 3.5 2500
’ ’ ' 5000
16,0-17,5 4.2 2Ap0
T ' 5000

23

D 42,4x2




@50

'\Q_
2
P —1
oy F L
]
—24 )
245 i
P Quality Finish art Glass t h L
Juality Finish art (0} -
Quality inish r L " A19/5042-008 S8 y 2500
4
AL/6920-050-LED 6000 A19/5042-208 Y 5000
A19/5042-011 2500
11,56-13,5 4.5
black A19/5042-211 5000
ac A19/5042-016 a4 4 2500
A19/5042-216 16, i " 5000
A19/5042-021 0760152 35 2500
A19/5042-221 f0Te2, * 5000
v A19/5042-G-016 ST 45 2500
e A19/5042-G-216 ' ! ! 5000
| 20

o

Irs)

il

art art
AL/6732-050-LED AL/6790-050-LED
51 |

@ 50x1.6

5]

N

Quality Finish art

AL/6313-050-LED

Quality Finish art

57



A14/6920-048
A14/6925-048

W satin  A/6732-048

EEEZ] satin  A/6505-048

5000
2500
5000
2500

30

©
O
$48,3x1,5

D
o

Y

PsSs

B 100
¢48.3

A19/5048-008
A19/5048-208
A19/5048-011

A19/5048-211

A19/5048-015
A19/5048-215
A19/5048-022
A19/5048-222

27

8,0-11,0

11,5-13,5

15,0-17 .5

20,0-20,5

2500
5000
2500
5000
2500
5000
2500
5000

@ 48,3x1,5




' A14/6925-025 2500
A14/6920-025 5000

BN 30x40x1,5

73
' satin | A/6920-080 5000
37.5
24
b
42
WB/6925-042-17
17 2500

WD/6925-042-17

=

(NEUTRO 43
Q9/03-3x12 Q5/05TR-310
%
—
? 24
AR
A19/5042-008 — § 2500
A19/5042-208 s 5000
A19/5042-011 Wiias 4g 2900
plack A19/5042:211 R ! 5000
3% A19/5042-016 orrs  4p 2500
A19/5042-216 FEI ' 5000
A19/5042-021 sy BE 200
A19/5042-221 e ’ 5000
A19/5042-G-016 60175 4p 2500
ra =,
9 atg/s042.G216 00 " 5000
[
(NEUTRO : Bl
08/03-3x12 Q5/05TR-310

59




40x40x

Finish

Quality

art

A/6925-040

AlISI304

A/6920-040
A/6921-040

AISI316 A14/6920-040

Finish art

A/6732-040

Quality

AISI304

AISI316 A14/6732-040

Quality  Finish

art

AlSI304 A/6790-040

AISI316

- A14/6790-040

Material Finish art

AISI316 A14/6302-040

1.5
A
40
24
— .
24 ||
v Quality  Finish art
L == _
AN A19/5042-008
— A19/5042-208
A19/5042-011
5000 A19/5042-211
v black ) 19/5042-016
6000
A19/5042-216
5000 A19/5042-021
A19/5042-221
A19/5042-G-016
gy e
A19/5042-G-216
4
i i
i
=
3
Finish arl.
AlSI316 A14/6303-040
6
—-1—'-—
"ﬂ.
=
s
2
Quality Finish art
AISI304 | A/6313-040
AlSI316 A14/6313-040
30

40x40x1,5

19

I
40x40x1,5

40x40x%1,5

Matenal

art

AISI316 A14/6312-040

? 24
e 24 )
Glass t h L
8,0-11,0 5 2500
' ' 5000
11,5-13,5 4.5 2000
' ) ’ 5000
16,0-17.,5 4.2 cEt
: ! : 5000
20,76-21,52 35 ZH
’ ’ ’ 5000
16,0-17.5 4.2 2300
s 2 : 5000
30
-—-1
o
Ll
|
I
|
30
1 .. $
f=}
©)

40x40x1,5




Bl 40x40x1,5

6.5
A _ | AXD D=
&/
| 40,5 |
@ ——@©
73,5
o%s
Guality Finish art
AISI304 A/6505-040
AlISI316 A14/6505-040
MSIBEEN 50x40x1,
(7 N
f— —
24
50
\ll
Quality Finish art L gl
’E\
6000 v
'y
4
4
L L 4
A I
40 "
Quality  Finish art b L
WB/6925-040-17
17 2500

WD/6925-040-17

28

Finish art
A19/5042-008
A19/5042-208
A19/5042-011
A19/5042-211
A19/5042-016
A19/5042-216
A19/5042-021
A19/5042-221
A19/5042-G-016
A19/5042-G-216

black

gray

0 N

8,0-11,0 5

11,6-13,6 4.5

16,0-17.5 4.2

20,76-21,52 3,5

16,0-17.,5 4,2

2500
5000
2500
5000
2500
5000
2500
5000
2500
5000

Q9/03-3x12

| o=

b, e

Q5/05TR-310

61



60x40x1,5

1,5l h
+ -
40 ?
24
24
24
24 «—24 g
\IJ il e ] I B0 k
vy : A19/5042-008
i & A19/5042-208 8,8:11.0 5 oo
A/6920-640 5000 / 7 5000
AISI304 A19/5042-011 2500
/6925640 =00 mubber | black  A19/5042:211 ARS8 b
 A14/6920-640 5000 b A19/5042-016 T
S A14/6925-640 2500 A19:3042-210 o ‘ 5000
A19/5042-021 2500
A19/5042-221 ki
ay A19/5042.G-016 2500
A 9 A19/5042-G-216 BOILE 42 " oo
w0
. <
o
-
&
o B
)
—-1—'-—
w0
H =
(=]
=T
x
(=]
=T
LT |
!A/ﬁ?go-cm
|
| A14/6790-640
35
)
N A A é
TS
g
]
-
-

62



s
2
14
v
14
254
art L glasst
- A14/6925-225 2500
AlSI316 <14
- A14/6920-225 5000
i-'—'-——
ZZzZ]
X
o~
ZE:
Z &
AlSI316 A14/6732-225
25,9
P
1€ -
e
™
] 31,5
53,1
I | E—
o~
- o~

AlSI316

A14/6505-225

AISI316 - A14/6790-225

art

A14/6312-225

AISI316

| 25,4x21x1.2

Material Finish art

AISI316 A14/6314-225

—-1—'-’—
o A
fi =
3
&
™
W
s

::[' :555:']'::

63



Material Finish

natural

Material

64

Finish

Effect

ELOX

o~
U o~
18
Eifect art L glass t
AL/6901-014-3000-S-E 3000
ELOX
AL/6901-014-6000-S-E <14
8000
Black AL/6901-014-6000-N-B
2 ~|
_..:l-._—‘ 0
21,4
L glass t

art
AL/6901-017-3000-S-E 2000

: <17
AL/6901-017-6000-S-E 6000

Q .-
Q5/05TR-310

Q9/08-3x12

| =
Lo, ep)
Q5/05TR-310

'09/03-3x12




AISI304

[N NERN T LSS Y

it

22 |

A/6901-018-2500 2500
A/6901-018-5000 5000
AL/6901-018-3000-S-E 2000
AL/6901-018-6000-S-E <18

¥ 8000
m black AL/6901-018-6000-N-B

ELOX

' A/6900-020
- A/6905-020

AL/6901-022-3000-S-E 2000
AL/6901-022-6000-S-E 6000

<18
o~
&
26
<22
o~
]
~0
~

LY &,
oS
2500
<24 v
5000

-"fo.{,-

=
\.E.‘Eﬂm 4

09/03-3x12 Q5/05TR-310
B
@iEUTRO 44
Q9/03-3x12 Q5/05TR-310

A19/5042-008
A19/5042-208
A19/5042-01
A19/5042-211
A19/5042-016
A19/5042-216
A19/5042-021
A19/5042-221
A19/5042-G-016
A19/5042-G-216

?24

8,0-11,0

11,6-13,5

16,0-17.5

20,78-21,52

16,0-17.5

4.5

4.2

3,5

4,2

2500
5000
2500
5000
2500
5000
2500
5000
2500
5000

65



0
oc
€
U
L

I

.D‘ A AR e R g ——

A




25
.
__IJ=¢7 Ll
|
g R -
J el
T 5 T
L : | i |
e N -
3 48
5 D
= - R
2 "
7 @65
55
48 25

=%
40

A8
|
-
167621 52
; i
88

| 16.76-21.52

m satin A14/0773-000 16,76 - 21,52

25

g EX

|
Sy e

‘ 3

|

40

16.76-21.52

m !ﬂﬂﬂ A14/0772-000 16,76 - 21,62

143
45 A
— ; |
: |
| — 9
- 4 I
| . |
: Fi |
‘ ),57 A
g | i f
AISI316 Bﬁﬁ! A14/0774-000 16,76 - 21,52 Fa =

67



e

PNERRCE  satin | A14/230P-700 1x
glass t

] 6.76 8 8,76 10
A19/23-POB/KOB  A18/23-POT/KOS A19/23-POB/K10  A18/23-PO9/K11  A18/23-P10/K12

M satin  A14/230P-900 1
glasst

3] 6,76 8 8,76 10
A19/23-PO6/KOB  A19/23-POT/K09 A19/23-POB/K10 A19/23-P0OS/K11  A19/23-P10/K12

A/0746-front A/0745-D30

A-DIN 975 M8

68

6-12,76

15 19 17.5
I
|
14 010
12 12,76
A19/23-P11/K13  A19/23-P12 A19/23-P13
45
27.5 ©
15 ] 17.5 S
s <
12 12,76
A19/23-P11/K13  A19/23P12 A19/23-P13



=0
28 223 28 =
= | 2
| = | | -
[ [ L |
14 @10 ‘
108
‘."(
A19/04-PVC
_satin  A14/2200-700 1x
plate t glasst
1,5 2 3 8 8,78 10 10,76
A19/22-0015 A19/22-002 A19/22-003 A19/22-008 A19/22-000 A19/22-010 A19/22-011
74
58
30 |
14 28 =
e I A
[
@19

“ !
A19/04-PVC

satin  A14/2200-900-B 1x

Alsiais B

plate t glass t
1,5 2 8 8 8,76 10 10,76
A19/22-0015 A19/22-002 A19/22-003 A19/22-008 A19/22-00% A19/22-010 A19/22-011

A/0747-front A/0747-front

A-DIN 975 M10

69



‘¢

Quality

Finish art

A19/04-PVC
AISI316 A14/2500-700 1x
' 8 8,76 10 10,76 12
A18/25-008 A18,/25-009 A19/25-010 A19/25-011 A19/25-012

Quality Finish art

i A19/04-PVC

A14/2500-900 1%

D 8 8,76 10
A18/25-008 A19,/25-009 A19/25-010

AlSI316

10,76 12
A19/25-011 A19/25-012

12,76
A18/25-013

12,76
A19/25-013

23 27

6-12.74

19 Iy |

-

107, @10 1, . J

61276




71









GLASS

2 m B RAILING




A/OT18-242.

L)
@ -

A/2200-042

& -

A19/22-009

A/0512-042

& & -

~ 940-042-N
GR GL A0

Quality Finish glass t art
A-VR90-2GR
A-VRO0-2GL

1%
A/0T18-242

@
4x

A/2200-042

@& -

A19/22-009

A/0512-042

& -
A/0940-042-N

Quality Finish glasst art
A-VR90-4G

8,76
A-VR90-4G90

9

458

42 4x2

oo
g9 a P42 4x2

75



A/0718-242

*
@ -

A/2200-042

& -

A18/22-009

Af42 4x2

p—

A/0512-042

& -
0940-042-N

Quality Finish glasst art
A-VR100-2GR
A-VS100-2GR
A-VR100-2GL
A-VS100-2GL

AlSI304

1x

A/0718-242

4x

o

4/2200-042

@ -

A19/22-009

A/0512-042

1x

A/0940-042-N

Quality Finish glasst art

' A-VR100-4G

8,76  A-VR100-4G90
A-VS100-4G

142 4x2 |

558
1100

4G90

s

A-VR100-4G90

G142 4x2

1000
558

242

558
1000




M 22/1000-D42

A-BR100-2GR
A-BS100-2GR

4G

8,76

A @i=

0

1%

A/0718-242

2x

A/2200-042

4x

A19/22-009

1x

A/42 4x2

1x

AB/021-6-A..

1x

A/5729-242

AfO7T18-242

L&
ax

A/2200-042
@ -
A19/22-009
AS42 4x2
1x
AB/021-B-A. .
® -
A/BT729-242. ..
A-BR100-4G
A-BS100-4G
A-BR100-4G90-IN
A-BR100-4G90-0UT

1100

558

/h | o]

&5

1100
558

?85!

110y

45

@424

- 042,452

L

42 4

242 4x2

Y

1000
558

/
o=

200

1o /

5]}

1000
558

o /.

; 200
f’f g V \__f ﬁ -

45

4GS0-0UT

| -



OP/1000-D42

A/OT18-242

®
2%
-
A/250P-042

& -

A19/25-009

AB/021-B-A. ..

S -

- ASETZ29-242 .

Quality Finish art.
. A-BR100-2GR-250P
’ A-BR100-2GL-250P
1%
A/07T18-242

A/250P-042

A19/25-009

Af42,4x2

| AB/021-6-A...

® -

A/5T29-242

15h

glass t art

8,76 A-BR100-4G-250P

78

.

ax
-
& -

642

116

1}:;’

1000

642

65 \HD e

@424
™

| € 242.4%2

/

BR

Z42 4

L 942 4x2




'1100-D42

X

A/0718-242

'@
2%

OO

& -

A19/22-008

A/0512-042

& -

GR A/0940-042-N

art
AVR110-2GR
A-VR110-2GL

Quality F

A/0718-242

)
@ -

A/2200-042

& -

A19/22-009

AJ42 4x2

F
-

A/0512-042

& -

A/0940-042-N

art.
A-VR110-4G
A-VR110-4G90

242 4x2 >

1100

458
1100

658

42 4x2

¥

79



A/4718-042

‘ =
2x
A/2200-000

& -

A19/25-009

1X

A/40x40x2

Qm

A/4511-040

GR
Quality
- AJP-VR100-2GR
' AJP-VR100-2GL
1x
A/4718-042
L )
4x
A/2200-000
& -
A19/25009
1x

6 A/40x40x2

gu

X A/4511-040
|
1x
4G J
A/4940-040

glass t art

AISI304 [ 8,76  AJP-VR100-4G

40x40x2

1000

558

g " - 40x40x2
i
b

W0



MIBBEIN 1000,/VER

1128

952

=
&
?
g
0]

Quality Finish D art.
A-VER-VR100
42 4x2
A-VER-BR100

MIOBEIR 1000/VER

956

— ] /
B
==
]
P {E
L
.Oualﬂy Finish D art.
AJP-VER-VR100
40x40x2 =
AJP-VER-BR100

81



N
-

SUBEBIERN ATYP-INOX

[

)

h2
L

B
w

hi

/

[

@
]

Quality Finish

AlISI316

AlSI304

AlS1316

natural

82

4G90-IN 4G90-0UT

7 ,
b &

42 4x2

40x40

50

40x40

50

art L h1 h2 h3

ATYP-INOX A/42,4
ATYP-INOX A/42,4-L
ATYP-INOX A14/42,4

- ATYP-INOX A/40x40
ATYP-INOX A14/40x40
ATYP-INOX WB/40x40
ATYP-INOX WB/D50

- ATYP-INOX WD/40x40

ATYP-INOX WD/D50

2GR 4G 2GL
AL LS
4G90-IN 4G90-0UT
Fa 7
2GR 2GL 4G 4GA0-IN 4G90-0UT

Pcs



1

VR BR A/42,4%2 GS/8,76 A/5729-242 A-DIN 7380-A2 M5x12
" 2.
[ Quality  Finish art. L b GS/8.76... VR
A/ZGVR100-1504 1500 1x
| 3
" Alsizos R 42,4x2  A/ZGVR100-2786 3000 1000 2x %
A/ZGVR100-5350 6000 ax 5x =
7]
3
Quality Finish art. L b GS/8,76... BR (0]
A/ZGBR100-1504 1500 1% 2x
IUSERYRE i 1 4o //ZCGBR100-:2786 SS9 1000 = &
A/ZGBR100-5350 6000 4x x
“;
not assembled

Q/INOX-INSTALL-SET

L=M1+M2+ M3+ M4=4952

T2=111,2 . modul M1=a+2xT1 | M2

1000

_GS/B,76-100x75-VSG | GS/8,76-120x75VSG GS/8,76-120x75-VSG ' GS/8,76-100x75VSG
Quality art. a b glasst ‘ a 55T4 Madul M 2xT2 L=M+25T2
— — m - M=a+2xT1
GS/8,76-70x75-VSG/ESG 700 | s 763 048
VSG/ESG SRR D ER 800 8,76 800 882,4 1104,8
& GS/8,76-90x75-VSG/ESG 900 | 90 9804 1204.8
GS/8,76-100x75-VSG/ESG 1000 | 1000 82,4 103-2‘ = 2224 1304‘8
s - 1100 759 10,78 . 1100 1182,4 14048
= GS/10,76-120x75-VSG/ESG 1200
== | 1200 1282,4 1504,8
GS/8,76-90x75-VSG/ESG-MILK 900 -
—— 7
GS/8,76-100x75-VSG/ESG-MILK 1000
GS/10,76-120x75-VSG/ESG-MILK 1200 10,76 |

83



:
—

=

NG

NZ

X =

2=

N

N



d12/900-D42

Iu

AJO7T18-242.

= -

A/0830-042. .

AJA2 4D

‘.-—-u-.
-

A/D512-042...

A/0840-042-N

A-VR90-4D12
A-VS90-4D12
E A-VR90-4D12-L
polish
A-VS90-4D12-L

AISI304 §

Af0718-242_

4x

A/0830-042..,

AS42.452..,

A/5729-242..,

 ABRO0-4D12
' A-BS90-4D12
 ABR90-4D12-L
A-BS90-4D12-L

212 |
cazax2 | | é

©

8

— ﬁDa,,_q_
"“_“‘-‘-‘

=

— \_\:
=

1000
g
=]
A4

o D42.4x2

]
2

/]

210

/

1noe_J

\l_

S
{
!
/

B\

Fo0

£

188
2

45

A Vil

BR

. (

00

85



B d12/900-D50

A/OB1E-D42

1x

Af1732-050-10

A/0512-050

1%

AB/80x5-M16

WB-VR90-4D12
Beech natural
WB-VS90-4D12

86



| d12/1000-D42

AfO7T18-242...

5x

£3
o

1000

A/0830-042. .

@42,4x2 | | o

1100

Af42.4x2..,

A/0940-042-N

| AVR100-5D12

A-VS100-5D12
A-VR100-5D12-L
A-VS100-5D12-L

AISI304
polish

ii 1x
ASOTIB-242.
[T
o -
AJ0B30-042... Y g
LT
1%
]
' = 224
| ~
e . 043 4x2 %‘\
1x .
-h_q_j a
AB/021-6-A.. T
S - €
AN
A/BT29-242 E
~ A-BR100-5D12
AISI304 s
A-BS100-5D12

87



d12/900-40x40

2424

1x
A/4T1B-042 e} &
& -
12| yg
A/0830-000 P \Co N
40x40x2 %
1x = 8
G
Af40x40x2 9‘“‘-‘,]
=]
X %f“‘
A/4511-040
1%
A/4940-040
o L{ _ AJP-VR90-4D12
I S . AJP-VS90-4D12
% % [
A/4T18-042 @12 o
E g ¢
4x
 40x40x2 3
A/0830-000
g
g
1x J\ d
el s
A/40x40x2 ¢ —%
il [«
TX ._&D—“-\- ]
5 5R |
| BR
AB/005-4 T~
E =
» - s
5
e
A/4732-040
BS

AJP-BR90-4D12
AJP-BS90-4D12

88



d12/1000-40x40

Af4T18-042

Af40x40x2

1%

A/4511-040

1%

A/4940-040

AJP-VR100-5D12
AJP-VS100-5D12

Aj4T18-042

& -

A/0830-000

A/40x40x2

A/4732-040
art .
AJP-BR100-5D12
AJP-BS100-5D12

‘@
"
5

1130

&

2
| o2, g

40x40x2
J\E
~—
T
§"\~.\
ﬁ;—.{h
{E
e

1000

1000

89



ATYP-INOX

/

jé:“

2
(s "
2.2
o 2
— - K
2 =
g -
= L e
—-u
satin ATYP-INOX A/42,4
polish 42,4x2 ATYP-INOX A/42,4-L
AISI316 BEEI)] ATYP-INOX A14/42,4
z ATYP-INOX WB/D50

natural 50
ATYP-INOX WD/D50

L=max. 1200mm, max. 7 holes

ATYP-INOX A/40x40
ATYP-INOX A14/40x40
ATYP-INOX WB/40x40

natural 40x40
ATYP-INOX WD/40x40

L=max. 1200mm, max. 7 holes

90

satin | 40x40x2

hs

hd

h3

hl

| ht

\
AV

]

ha

b

h2

/

/

/

/




BR .

e

VR/VS BR/BS

AlSI304 BEETIT 42 4x2

satin | 42.4x2

IYSEGPY  satin | 42,4x2

satin | 42.4x2

Q/INOX-INSTALL-SET

n
5
AY
)

A/42.4x2

A/ZVR90-1500
A/ZVR90-3000
A/ZVR90-6000
A/ZVR100-1500
A/ZVR100-3000
A/ZVR100-6000

A/ZVS90-1500
A/ZVS90-3000
A/ZVS90-6000
A/ZVS90-1500-L
A/ZVS90-3000-L
A/ZVS90-6000-L
A/ZVS100-1500
A/ZVS100-3000
A/ZVS100-6000

A/ZBR90-1500
A/ZBR90-3000
A/ZBR90-6000
A/ZBR100-1500
A/ZBR100-3000
A/ZBR100-6000

A/ZBS90-1500
A/ZBS90-3000
A/ZBS90-6000
A/ZBS100-1500
A/ZBS100-3000

A/ZBS100-6000

A/12x1,5

1500
3000
6000
1500
3000
8000

1500
3000
6000
1500
3000
8000
1500
3000
6000

1500
3000
6000
1500
3000
8000

1500

3000

8000

1500

3000

8000

WA
! ‘:_"

A/5729-242

900

1000

200

1000

200

1000

900

1000

@

A-DIN 7380
A/0221-012 _A2 M5x12

* 9
**
not assembled

91









3 GLASS
= B CLAMPS
AXIAL

_:'7'




b b
I I
L 1 1]
b=
. 38 g
= g x
-8 o
O
: R B
- i 1" =
i f G}
g é Y g
% h1 h2 b
g El f mno 10 10 500
gl max 120 _ 120 1500
S1SYSTEM
b (mm)
{(kN/m2) T T T T
| 500 | 750 | 1000 | 1250 | 1500
8,76 0,75
1,5 - : 0,5
Glass | 10,76 2 | | 1 i | 0.5
VSG/ESG 12,76 . 2 1,5 1
t(mm) 16.76
25 2 1.5
17,52
S2 SYSTEMBES3 SYSTEM
. b (mm)
(kN/m2) - - -
_ 500 | 750 | 1000 | 1250 _ 1500
8.76 | _ 1 _ 0.5 |
Glass 10_'?6 = 2 | 1‘.5 4 1 £ 0.'.5 |
VSG/ESG 12,76 _ 15 | 1 | 0,5
timm) 16,76 2
| 25 2 1,5 1
17.52

*Uvedené hodnoty s orientaéné nakolko technické normy sa v jednotlivych krajinach lisia. Pri navrhu zabradiia Je potrebné zohladnif a] dalsie faktory ako je veterna zéna, Giéel stavby,
hibka prepadu, kotvenie stipika, ...

“The values given are just informative because the technical standards vary from country to country. When designing railings, other factors have to be taken in consideration such as
wind zone, purpose of construction, depth of overflow, post anchorage, ...

95



96

4

—

38 A

SYSTEM

plate t

glasst

i o © 2 o
SNt o l;_ © l;. = 2— N o
1,5-3 6-10,76
1,5-3 8-10,76
I
6-12,76
. 6-12,76
v
6-12,76
4-6 8
I —

13,52

16,76

17,52

20,76

21,52




MODEL

SYSTEM

plate t

w
o
7]
]

w| B e o &« R & | B | 8§ B 8
o @ g & o g | E ] ]
6-10,76
6-10,76
6-10,76
8-12,76
12-17.52
8-12,76
17,52-21,52
4-6
I I

97



3.1

98

AlSI304

AISI316 §

AISI304

AlISI316

A19/20-0015 A19/20-002

 A/2000-000

- |Aj2000-000-set4
polish  A/2000-000-L

n  A14/2000-000

polish A14/2000-000-L

ZN/2000-000

A/2000-033 33,7
~ A/2000042
satin 42,4
A/2000-042-setd
A/2000-048 48,3
A/2000-042-L 42,4
polish
A/2000-048-L 483
A14/2000-033 337
_satin | A14/2000-042 42.4
A14/2000-048 483
A14/2000-033-L 33,7
polish A14/2000-042-L 42,4
A14/2000-048-L 483
ZN/2000-033 33,7
ZN/2000-042 42,4
ZN-SATIN/2000-042 42,4
polish ~ ZN-POLISH/2000-042 42,4
plate t
15 2 3 5

A19/20-003 . A19/20-006

polish ZN-POLISH/2000-000

plate t
1,5 2
A18/20-0015 A19/20-002

3 ' 6
A19/20-003  A19/20-006

A-DIN 912-A2 N

6,76
A19/20-007

4x

6,76
A19/20-007

@10

| 6-1076

15
17,5 20
37.5
50
A-DIN 912-A2 M8x20 A19/04-PVC
1x
4x 4x 8x
1x
1x
glass t
8 8,76 10 10,76
A19/20-008 A19/20-009 A19/20-010 A19/20-011
=0
P
@10 =]
] <
15
17.5 20
37.5
50
Tes
)  A19/04-PVC
8x
Gamin
g_lasst
8 8,76 10 10,76
A19/20-008 A19/20-009 A19/20-010 A18/20-011




A/2200-042
A/2200-042-SCREW 42,4
“satin  A/2200-042-setd
AlSI304 A/2200-048
48,3
A/2200-048-setd
A/2200-042-L 42,4
polish
A/2200-048-L 48,3
A14/2200-042
42,4
Csatin | A14/2200-042-set4
A14/2200-048 48,3
AISI316
A14/2200-042-L
42,4
polish  A14/2200-042-L-set4
A14/2200-048-L 48,3
ZN/2200-042
42,4

ZN-SATIN/2200-042

plate t
1.5 2 3 8
A19/22-0015 A19/22-002 A19/22-003 A19/22-008

_ A/2200000 1x
AISI304  A/2200-000-setd 4x
polish  A/2200-000-L
1%
_ | A14/2200-000
: [A14fzzoo-ooo-set4 ax
AISI316 :
A14/2200-000-L 1x
polis
A14/2200-000-L-setd 4x
AL/2200-000 1x
plate t
15 2 3 8
A19/22-0015 A19/22-002 A19/22-003 A19/22-008

glasst
8,76 10
A19/22-009

A18/22-010

A-DIN 912-A2 M8x20

4%
4%
4x
glass t
8,76 10
A19/22-009 A19/22-010

@10

| 8-10.76

48

63

% ¢ i
Test

A-DIN 912-A2 M8x20 A19/04-PVC
1x
4x 8x
Ax B8x
LGAM|
AbP
Gdmin
Ax 8x
4x 8x
10,76
A19/22-011
@10 =
5
. @
16
20 28
63
r
f =03
A19/04-PVC
8x
BX Gdmin
8x
10,76
A19/22-011

99

3.1



=0
28 22,3 28 =
E— | z
| [ | | ”
| |
16 @10
108
‘¢ B
Test
A19/04-PVC
(EIESEN  satin  A14/2200-700 1x Gamin
| plate t glass t
1.5 2 3 8 8,76 10 10,76
3.1 A19/22-0015 A19/22-002 A19/22-003 A19/22-008 A19/22-009 A19/22-010 A19/22-011
74
58
30 2
& w | 2
I I 2l
|
k10

100

INEEICH  satin - A14/2200-900-B 1%

A19/04-PVC

Gdmin
plate t | glasst
1,5 2 3 8 8,76 10 10,76

A19/22-0015 A19/22-002 A19/22-003 | A18/22-008 A19/22-009 A19/22-010 A19/22-011




010

6-12,76

a0 ‘{
Quality Finish art [ ' Test
A-DIN 912-A2 M8x20 A19/04-PVC
1x

A/250P-042

AlSI304 = A/250P-042-set4 v 4x 4x 8x

A/250P-048-setd 48,3 ax 4x Bx

XTI 2v2s0n002 y i

| glass t
D 6 6,76 8 8,76 10 10,76 12 12,76
A19/25-006 A19/25-007 A19/25-008 A19/25-009 A19/25-010 A18/25-011 A19/25-012 A19/25-013

@10

~0
[
o™
~0

L

‘4

Quality art . : Test
A-DIN 912-A2 MBx20 A19/04-PVC
A/250P-000 1x
AlSI304
A/250P-000-set4 4x 4x 8x

glasst
' 6 6,76 8 8,76 10 10,76 12 12,76
A19/25-008 A19/25-007 A18/25-008 A19/25-009 A19/25-010 A19/25-011 A19/25-012 A19/25-013

101



@10 ©
o
— 1A
—
[
1%
20 28
48
63

s .
Quality  Finish art . Test

A-DIN 912-A2 MBx20 A19/04-PVC

A/2500-042 42,4 1x Zoﬁ-.
AISI304 A/2500-048 1x
48,3
A/2500-048-setd 4x ax 8x
v
A14/2500-042 42,4
1x
AISI3 16 A14/2500-048 48,3 Gamin
polish  A14/2500-042-L 42,4 1x

glasst
= 8 6,76 8 8,76 10 10,76 12 12,76
A19/25-006 A18/25-007 A19/25-008 A19/25-009 A19/25-010 A19/25-011 A19/25-012 A19/25-013

6-1276

9
20 28

63

Test

Quality Finish art

A-DIN 912-A2 MBx20 A19/04-PVC

AlSI304 A/2500-000 1x

AlSI316 A14/2500-000 1x Gél’l’lll’l

ZAMAK ZN/2500-000 1x

glass t
' B 6,76 8 8,76 10 10,76 12 12,76
A19/25-008 A19,/25-007 A19/25-008 A19/25-009 A19/25-010 A19/25-011 A19/25-012 A19/25-013

102



~0
27 23 ] 27 5-
L [ il
[ [ 19 IE |
‘ Lozl @il | ‘
Quality Finish art '?‘
A19/04-PVC
AISI316 | A14/2500-700 1%
' 8 8,76 10 10,76 12 12,76
A19/25-008  A19/25-009  A19/25-010  A19/25-011  A19/25-012  A19/25-013
82
| &7
L3 _ 2l
23 2% ol
- B ._1| 5
1

uwy
i
~do e
R 8,
R &
Quality Finish art (
A19/04-PVC
AISI316 . A14/2500-900 1%
8 8,76 10 10,76 12 12,76

A18/25-008 A19,/25-009 A19/25-010 A19/25-011 A19/25-012 A19/25-013

103



Quality Finish art.

A/2800-033
AISI304
A/2800-042

glass t
4 6

A18/28-004 A19/28-006

Quality Finish art

AlSI304 A/2800-000

glass t
| A19/28-004 A19/28-006

104

o

A-DIN 912-A2 M5x20

. A-DIN 912-A2 M5x20

Test

Gamin

11

35

Test

Gamin

1
13

a5




Quality

A/2100-033 33,7
A/2100-042 42,4
AISI304 : A/2100-042-set4 42,4
A/2100-048 48,3
A/2100-042-L 42,4
A14/2100-033 33,7
A14/2100-042 42 4

AlSI316
A14/2100-048 48,3

A14/2100-042-L 42,4

ZN/2100-042
ZN-POLISH/2100-042

plate t
1,5 2 3 6
A19/21-0015 A19/21-002 A19/21-003 A18/21-0086

Quality  Finish art m

A/2100-000 1x
AISI304 A/2100-000-set4 4x
A/2100-000-L

A14/2100-000 1x
A14/2100-000-L

ZN/2100-000

1x
polish ZN-POLISH/2100-000

plate t
= 15 2 3 6
A19/21-0015 A19/21-002 A19/21-003  A19/21-006

6- 10,76

16
9

A-DIN 912-A2 M&x20 A19/04-PVC

1x

4x ax Bx
e

LGARY
Gdamin

1x
v
v 1%

glass t

6,76 a8 876 10 10,76

A18/21-007 A19/21-008 A19/21-008 A19/21-010  A18/21-011

e
B
2
——71 <
14
19
45
L
Test
A-DIN 912-A2 M8x20 A19/04-PVC
4x 8x
Gamin
glasst
6,76 8 8,76 10 10,76

A18/21-007 A19/21-008 A19/21-009 A19/21-010 A19/21-011

105



A/2300-042

AISI304 A/2300-042-setq

A/2300-042-L

42,4
A14/2300-042
AlSI316 t
A14/2300-042-L
glasst
6 6,76 8 8,76
A19/23PO6/KO8  A19/23-POT/KO9 A19/23-PO8/K10  A19/23-PO9/K11

~ A/2300-000 1x
AISI304 A/2300-000-setd 4x ax
A/2300-000-L
| A14/2300-000 1%
AISI316 |
polish  A14/2300-000-L
AL/2300-000 1%
glass t
6 6,76 8 8,76
A19/23-POB/KO8  A19/23-PO7/KO9 A19/23-PO8/K10  A19/23-PO9/K11

106

A-DIN 912-A2 M8x20

6-1076

15
18

45

“ ¢

A-DIN 912-A2 MBx20 A19/04-PVC

10 10,76
A19/23-P10/K12  A19/23-P11/K13

Test

6-1076

— 1
15
18
45
‘. .
ies
A19/04-PVC
Ioap-‘
8x |LGARY
AbP
Gdamin
10 10,76

A18/23-P10/K12  A19/23-P11/K13




A/230P-033 33,7 -
_satin  A/230P-042
AISI304 42 4
A/230P-042-setd
A/230P-042-L
42 .4 v
A14/230P-042
AlSI316 . A14/230P-048 48,3
A14/230P-042-L 42 .4
s TR
glass t
6 6,76 8 8,76

A19/23-PO6/KOB  A19/23-PO7/K08 A19/23-PO8/K10  A19/23-P09/K11

: A-DIN 912-A2 M8x20

A/230P-000 1x
INSEGPN  A/230P-000-setd ax 4x
| A/230P-000-L
A14/230P-000 1x

AISI316 | —_—
polish  A14/230P-000-L

glass t

6 6,76 8 8.76
A10/23-POG/KO8  A19/23-PO7/K09 A19/23-PO8/K10  A19/23-P09/K11

>

4x

10
A18/23-P10/K12

Bx

10
A19/23-P10/K12

=]
=)

6-10,74

mE

.
Tes
A19/04-PVC
4x Bx
Gdmin
10,76
A19/23-P11/K13
~0
@10 E
| S
|
15
18 19
37
te 45
v
Test
TR
AbP
Gamin
10,76
A19/23-P11/K13

3.1

107



=
l]?.S 1% I?.Sl =
| | ki
| 4
14 k210
"
\'_.1 '
1%
RSN satin -~ A14/230P-700 1x Gdmin
glass t
l 6 6,76 8 8,76 10 10,76 12 12,76
A19/23P06/KOB  A19/23-PO7/KO0  A19/23-P08/KI0  A10/23-P09/K11  A19/23-P10/K12  A19/23P11/K13  A19/23-P12 A19/23-P13
0
"“—.
175 o
©
10
‘Y ¢
E satin  A14/230P-900 1x Gdmin
glass t
6 6,76 8 8,76 10 10,76 12 12,76
A19/23-POB/KO8  A19/23-PO7/K0S  A19/23-POB/KI0  A19/23-PO9/K11  A19/23-P10/K12  A19/23-P11/K13  A19/23-P12 A19/23-P13

108



2
@10 o
©
|
19
7
45
f N
Te
a/0
A/23KP-042
AlSIZ04 LGAPY
A/23KP-042-set4 4x 4x 8x AbP
L 42,4 v =
A14/23KP-042
AlSI316 Gamin
A14/23KP-042-L 31
glass t
8 8,76 10 10,76 12 12,76
A19/23-POB/KO8  A19/23-PO7/KO8 A19/23-POB/K10 A19/23-P09/K11  A19/23-P10/K12 A18/23-P11/K13
2
P10 o
@

|
15
18 19
45
m Test
A-D
A/23KP-000
- satin re. &
AISI304 A/23KP-000-set4 4x ax Bx LGAP|
- AbP |

polish  A/23KP-000-L 5

‘satin  A14/23KP-000 admin

AISI316

polish A14/23KP-000-L

glass t
8 8,76 10 10,76 12 12,76
A19/23-P0E/K08 A19/23-PO7/K09  A19/23-P0OB/K10  A19/23-P09/K11  A18/23-P10/K12  A19/23-P11/K13

109



Quality Finish art

A/2400-042 1%
AISI304
A/2400-042-setq 42,4 ax 4x

A14/2400-042

AISI316 1x
A14/2400-048 48,3

glasst
12,00 12,78 13,52 18,76 17.52
A19/24-012 A18/24-013 A19/24-014 A19/24-017 A19/24-018

A-DIN 912-A2 M&x20 A19/04-PVC

1x

A/2400-000

AlSI304

A/2400-000-setd 4x ax

A14/2400-000 1x

AlSIZT16 Sa——
polish A14/2400-000-L-setd 4x 4x 8x

o :

glasst
12,00 12,76 13,62 16,76 17,62
A19/24-012 A19/24-013 A19/24-014 A19/24-017 A19/24-018

110

12-17.52

o

A-DIN 912-A2 M8x20

17.5
19 | 22
41
a5
( Test
A19/04-PVC
8x
Gamin
o
e
D1 ~
——ry &
17.5
19 | 22
41
55

Gamin




@10

| 8-12.76

17.5

41

fp Test

A-DIN 912-A2 M8x20 A19/04-PVC

Quality Finish art

A/2600-042 1%
42 4
AISI304 A/2600-042-setd ax 4x 8x
A/2600-048 48,3 -
A14/2600-042 42,4 1%
AISI316
A14/2600-048 48,3
ZN/2600-042 42,4
ZN/2600-048 48,3 = 1x
ZN-SATIN/2600-042 42,4

glasst
I _ 8 8,76 10 10,76 12 12,76
A18/26-008 A19/26-009 A19/26-010 A19/26-011 A19/26-012 A19/26-013

2
@10 iy
. T
I] l i ]
]
17.5
1% 22
41
52
Quality Finish art .
A-DIN 912-A2 M8x20 A19/04-PVC
A/2600-000 1x Lo

AISI304
A/2600-000-setd ax 4x Bx

AISI316 A14/2600-000 1x Gamin
ZN/2600-000

1x
ZN-SATIN/2600-000

glasst
n 8 8,76 10 10,76 12 12,76
| A19/26.008 A19/26:009 A19/26:010 A19/26011 A19/26:012 A19/26.013
111



D12
17,5
20,5| 24,5
45
60

% o
Test

A-DIN 912-A2 M8x20 A19/04-PVC

A14/2700-000 1% Gdmin

glass t
3.1 17,52 20,76 21,52
A19/27-018 A19/27-021 Al9/27-022

H
©

|
10
13
a0
9 8a*
] Test
A-DIN 912-A2 M5x20
A/2900-033 33,7
: s 1x Gamin
A/2900-042 42.4
glasst
4 5] 8
A19/29-004 A19/29-006 A19/29-008
|
1o
13
a0

w % Test

A-DIN 912-A2 M5x20

A/2900-000 1x Gamin

AlSi304 REETTE

glasst
4 6 8
A19,/28-004 A19/29-008 A19/29-008

112



e
|
i

)
£
GLASS |

50

a0
Quality Finish y art glass t m
AT Ad4-DIN 7991 MBx20

flat A14/0783-000 v
8-12,76 1x
42,4 A14/0783-042 -

GLASS CLAMPS

B0°
Quality Finish art, glass t &E d
'
A4-DIN 7931 MEx20

fat A14/0782-000 v
_ 8-12,76 1x
42,4 A14/0782-042 s
glass t
» 8 8.76 10 10,76 12 12,76
_ A19/07-009 A19/07-011 A19/07-013

113



3 m 2 gﬁl\snis
FRONT




" =T
¥ <
& H
122 = 12,2 g
E 18 5
b
Quality art l 6, Quality art q ‘(
A-DIN 7380-A2 A-DIN 7380-A2
M8x20 A19/04-PVC Max20 A19/04-PVC
AISI304 1x AISI304 A/4100-000 1x
il
[ ]
8
L
122 @
20 ]
&
025
D20
Quality Finish art ' ‘f Quality Finish art l ’(f
A-DIN 7380-A2 A-DIN 7380-A2
M8x20 A19/04-PVC Max20 A19/04-PVC

AISI304 A/4100-742 1x AISI304 A/4100-700 X%

glass t
8 8,76 10 10,76 12 12,76

A19/4041-008 A19/4041-009 A18/4041-010 A19/4041-011 A18/4041-012 A19/4041-013

115



116

14

LT

28

14

m satin  A/4000-742

8-12,76

10

A18/4041-010

L

28

8-12.76




A19/04-PVC

satin  A14/2100-742

AlISI316 1%

polish A14/2100-742-L

AlSI316

polish A14/2100-700-L

satin | A14/2100-700

14

1%

‘satin | A14/2110-742
AISI316 | - 1x

polish A14/2110-742-L

' ] 6,76 8
A19/21-7086 A19/21-707

A19/21-708

A19/04-PVC

AlISI316 ;
polish A14/2110-700-L

glass t
8,76 10 10,76
A19/21-709 A19/21-T10 A19/21-T11

12
A19/21-T12

28

14

=N

28

6-12,76

A19/04-PVC

12,76
A18/21-T13

117




..... e

-— oy S
el G " et

T . . i — - » -
. = - = p S e
o e ¢
-~ & - -
i »
- - — [ - —
-
- e * iy -
————— - = -
— o —— - - - - — —
— ] e -
e - - -
- — -_—- iy
—

SRR MR A0 i AU sl 11 RO s e gt b et e



plate t

1.5 2 3

A19/20-0015 A19/20-002 A19/20-003

plate t
1,5 2 3

A19/21-0015 A19/21-002  A19/21-003

plate t

1.5 2 3

A19/22-0015  A19/22-002 A18/22-003

g.
=
3
(&)
E-
e
w.

15
2 A E1 [T
9 15
emal
A/MR-2x3 A/MR-10x15
Quality  Finish art axb t
A/MR-2x3 1
AISI304 ] = 1000x2000

A/MR-10x15 2

h 4

[+
-+

A/MR-28x13x2 A/MR-62x20x3

(2]

Quality Finish art axb d t v
y A/MR-28x13x2 28 13 1 38
AISI304 BT 7 1000x2000

A/MR-62x20x3 62 20 2 5,7

119



120

Quality Finish art D | 5 plate t Quality Finish art D L g plate t

33,7 A/0743-033 AISI304 A/0743-000 Lot
AISI304 42,4 A/O743-042 256 40 15 1,540 '

| 483 A/O743-048
AISI316 | 42,4 A14/0743-042

26 40 15 1540 AISI316 ~ A14/0743-000

art D L plate t t Quality Finish art Compatibility

A/ 18-frame

Quality

A/18-frame 18 1.7 1,25
AISI304 i 3000 AlSI304

A/27-frame 27 1.3 1,50 A/27-frame

plate t
|
il
l Lt -t
art b plate t t L
A/20x20x2-frame 20x20 1.5 1.2
AISI304 A/30x30x4-frame 30x30 4 3000
1.5
A/30x30x7,5-frame 30x30 7.5
piat9t )
Ik
W
| 1.5
| >
\ I
H——r———fr
|
|
T
CQuality art D plate t L Quality art Compatibility
AISI304 A/20x30x2-frame 20x30 1,7 3000 AISI304 A/20x30x2-G90  A/20x30x2-frame




121



..
- - - \*
l.ﬁ:ﬁ-ﬁﬁg e Ol

T ——

o

1L






WA MBS s A T B by ¥
! N Ty Ay

P RSOV T AN e 332_.3?3_.:___.Ir_s._iﬁ_.?__.,..___.,_.__.,_g#.:.__.r__i___, R LR TR LU PR S AR R T PR RIS .




A14/7900-003-012
A14/7900-003-025
A14/7900-003-050
A14/7900-003-100
A14/7900-003-200
A14/7900-004-012
A14/7900-004-025
A14/7900-004-050
A14/7900-004-100
A14/7900-004-200
A14/7900-005-012
A14/7900-005-025
A14/7900-005-050
A14/7900-005-100
A14/7900-005-200

| A14/7370-003
A14/7370-004
A14/7370-005

A14/7370-006

3,5
4.4
5,3

8,5

12,5
25
50
100

200

12,5
25
50
100

200

12,5
25
50

200

A14/7900-006-012
A14/7900-006-025
AISI316 A14/7900-006-050
A14/7900-006-100
A14/7900-006-200
A14/7900-008-050
A14/7900-008-100

AlSI316

Ll

12,5
25
50
100

200
50
100




126

SYSIENA FIX - VARIO

art d2

Quality  Finish art. d
A14/7330-003 a
A14/7330-004 4
AIS1316
- A14/7330-005 &
A14/7330-006 =]
Quality art. |
A14/7300-003 3
AISI316 |
- A14/7300-005 4-5

| A14/7350-003 6.0
A14/7350-005 95

M

D

6 12
10 20
D
55
7.5
8,3
7.5 986
9 "
8]
12 51
16 65

13
15

25

30
40

A d 1,5mm
YLV/LP-7,0x4,5/1,5-316
d 3-5mm
A14/7604-005
d 4-Tmm
A14/7601-005
i L
| gl
| S——

L1

A14/7350...




SUSIEN L EX

<qu
Q12
d

e Pl r
= = 1
| 2
IZFH' 7

Quality  Finish art d

CISIEREN  satin @ A14/L6 4-6

S | m— S s i W -

| Quality Finish art d D L2 L1 M L Tread
A14/L5-3 3 635 38 48 =1 100
A14/L5-4 4 75 45 48 6 108 : ki
ri
A14/L5-5 5 ] 51 B3 10 132 2
A14/L5-6 6 125 B4 B3 10 1465
AISI316 e 2}
A14/L5-3-LEFT 3 6,35 38 48 4] 100 g
A14/L5-4-LEFT 4 75 45 48 3] 108 i =i
LR oo o S | of
A14/L5-5-LEFT 5 9 51 63 10 132 s
A14/L5-8-LEFT 6 125 B4 63 10 1465 g}).
L
Quality Finish art. b1 Ly D | I
A14/7360-M6 13 35 8 392 6
AlISI316 = 1
A14/7360-M10 17 45 13 80 10

A14/L5..

127



s’YJ'STEM_:I FLEX

102

@12
d

M5

M 5l
=

“DIN 7380 Méx12

Quality  Finish art.
AlSIZ04  A5/Le-V

L sutin a6 Tofr
AISI316 A14/L6V

:
d
N

D42.4 25 48 - 58 ‘ D ‘

Quality  Finish art. | o (|

AISI304

AlS1316

i, \\\\‘\\\
SRRl =
= :

Quality Finish art d D h 4] dZ /

AlSIZ04 | A/7250-003 5 10,5 1680-220 s 1 =}
N A14/7250-003 8 140-200 A14/7350...
INGERCE  A14/7250-005 13,5 230-340 10,3 13

5
A14/7250-005-B 13 200 -270 10,8 16,56

128



SNSRI FLEX - VARIO

i L
|
=
* di._HZL—_ l z e
 —
—J
b
Quality Finish art M 1 | d
A14/7330-M6 6 13,5 a 61 59
AlSI316
A14/7330-M10 10 20 12 73 el
A14/7350...

.
gz
3

129



| OFF - AXIS

- 38,5 g <
2- M,Vm l %_ g3

Quality Finish art

AISI304

AISI316

D424

m-
Quality Finish art d 8

AlSI304 A/0830-042 i 3{0-{/\ 1

AlSI316 =
6 A14/0830-042 22

A/0830-000 Lo~

12 =
A14/0830-000 L__M??

L Jd
| uy
- 1 = [=]
Quality Finish art d &~ L

$22

20

Quality Finish art d
A17/442-3 3
AlSI304 ~ A17/442
flat A17/400 5
42,4 A14/442
AISIZ16
flat A14/400

130



SYSTEM MESH

YLV/CL-7,0x7,5/2,4-316

YLV/LV-70x120x1,5-316

YLV/UC-15,0x9,0/1,5-316
| 120 | YLV/LP-7,0x4,5/1,5-316

Quality  Finish art

(\EIESER  satin - YLV/LV-70x120x1,5-316

Quality

art.

AlSI316 ) | YLV/LP-7,0x4,5/1,5-316

41

Quality F

art

Quality Finish art

AISI316 YLV/UC-15,0x9,0/1,5-316 AISI316 YLV/CL-7,0x7,5/2,4-316 g
'.z.
g.:
. @
3‘
5729-242 A/0305-012 12x1,5 YLV/LP... )

S P ¥ Alaichad YLv/eL:

\ \ e
M ¢ YEVIGE...
A/O0718-242
YLV/LV-70x120x1,5-316
A-VER-VR100

0830-042

131



132

Quality

AlSI316

Quality

AlISI316

Material

Finish

effect

A14/7605-M6 a0 6

A14/7605-M10 120 10

art

A14/7500-010

art d L

AL/7405-003 3 15
AL/7405-004 4 18
AL/7405-005 5 22
AL/7405-006 LI

8 32

M RIGHT
r
M LEFT

A14/L5..

n
14
17
19
27

A14/L5...

130-200 // ,
o |
2

P11

1
12
17

® +(==0+ &

YLV/LP-7,0x4,5/1,5-316

+ (== + ’

A14/7604-005

ﬂ + @+ ==0+ 3

A14/7601-005 A14/7603-005

YLV/LP-7,0x4,5/1,5-316

A14/7604-005

A14/7601-005




M8

’ )
: o ol oM D424
o ST =
-
J 2
12
Quality Finish art d Quality Finish art
A14/7400-003 3 18 A14/012-02
A14/7400-005 3-8 20
@21 h i
N1
& |
- a
Quality Finish art H h d
A14/7603-005 30 58
AlSI316
A14/7603-005-B 345 B3
DIN 934,
art
AISI316 A14/7604-005
ﬂ IV
r_%
DIN 934
Quality art 23
AlSI316 A14/7601-005
1,5
Quality  Finish art art
AlSI316 LV/LP-7,0x4,5/1,5-316 Qs/95 3-8

133



4 _ 2 HANDRAILS




A/12x1,5-1000
A/12x1,5-1500
A/12x1,5-2000
A/12x1,5-3000
A/12x1,5-4000
A/12x1,5-5000
A/12x1,5-6000
A/14x1,5-3000
A/14x1,5-6000
A/16x1,5-3000
A/16x1,5-6000
A/20x1,5-3000
A/20x1,5-6000
A/25x2-2000

A/25x2-6000

A/33,7x2-3000
A/33,7x2-6000

A/12-3000

satin  A/12-6000

A/20-6000

1000

1500
2000
12 3000
4000
5000
1,5 6000
3000
14
6000
satin
3000 :
16
6000
3000
20
6000
2000
25
6000
2
3000
33,7
6000
AlISI304 BT
satin
polish
12 3000
12
6000
20

| A/42,4x1,5-3000
|A/42,4x1,5-6000
|A/42,4x2-1000

A/42,4x2-1000-EXCLUSIVE
A/42,4%2-1500

A/42,4x2-1500-EXCLUSIVE

A/42,4%2-2000

A/42,4x2-2000-EXCLUSIVE
'A/42,4x2-3000

A/42,4x2-3000-EXCLUSIVE
A/42,4x2-4000
A/42,4x2-4000-EXCLUSIVE

A/42,4x2-5000

A/42,4x2-5000-EXCLUSIVE

'A/42,4x2-6000
|A/42,4x2-6000-EXCLUSIVE

A/48,3x2-3000

A/48,3x2-6000

A/12x1,5-3000-L
A/12x1,5-6000-L
A/42,4x2-1500-L
A/42,4x2-2000-L
A/42,4x2-3000-L
A/42,4x2-6000-L

'A14/12x1,5-3000
A14/12x1,5-6000

A14/42,4x2-3000

'A14/42,4x2-6000

A14/12x1,5-6000-L
A14/42,4x2-6000-L

42,4

483

12

42,4

1.5

2

3000
6000

1000

1500

2000

3000

4000

5000

6000

3000
8000
3000
8000
1500
2000
3000
6000
3000
6000
3000

8000

General tolerances

T3/D3 EN 10217-7

(t £10%, max £0,2mm;
D +0,75%, max £0,3mm)

135



MONOLIT

Quality  Finish art ) L
WB/D42-L1200 1200
WB/D42-L1600 1600
WE/D42-L2000 2000
- patural WB/D42-L2500 4 2500
WB/D42-L3000 3000
WB/D42-L4000 4000
WB/D50-L3000 49 3000
WD/D42-L1200 1200
WD/D42-L1600 1600
WD/D42-L2000 2000
natural WD/D42-L2500 @ 2500
WD/D42-L3000 3000
WD/D42-L4000 4000
WD/D50-L3000 49 3000

£
< D435
32
Quality Finish art L
Spruce natural WS/45x36-L3000 3000
il
(Dt’«
3
T
345
Quality Finish art L
| Spruce natural WS/45x37-L3000 3000

136

Quality F

Spruce natural WS/45x35-L3000

Finish

Quality

Spruce natural

WS5/45x45-L3000

\" CINK
HE: 5 Ao
@ a
\/ I 8
| ‘ o
Quality Finish art D L
=, npatural WB/D42-L3000-CINK 42 3000
Quality Finish art D h L
WB/40x40-L2000 2000
WB/40x40-L2500 2500
natural i
WB/40x40-L3000 3000
WB/40x40-L4000 4000
40 40 i
WD/40x40-L2000 2000
WD/40x40-L2500 2500
natural i
WD/40x40-L3000 3000
WD/40x40-L4000 4000
43
art E Quality Finish art. L
3000 Spruce natural WS/45x20-L3000 3000
i 1
# 3
f a ! 32
455 4%
art L Quality  Finish art L
3000 Spruce natural WS/45x45-R-L3000 3000




t Y
I X
A/10x10x1-6000 10 10 A/40x20x2-6000 40 20
1 )
A/12x12x1-6000 12 12 RGP satin | A/50x30x2-6000 50 30 2  BOOD
A/20x20x1,5-6000 20 20 1,5 6000 A/60x40x2-6000 60 40
A/25x25%2-6000 25 25
A/30x30x2-6000 30 30
A/40x40x2-1000 1000
A/40x40x2-1500 1500
A/40x40%2-2000 2000
satin  A/40x40x2-3000 3000
40 40
A/40x40x2-4000 2 4000
A/40x40x2-5000 5000
A/40x40x2-6000
A/40x40x2-6000-EXCLUSIVE
A/50x50x2-6000 50 50
6000
A/60x60x2-6000 60 60
A/B0XB0x2-6000 80 80
A/100x100x3-6000 100 100 3
polish A/40x40x2-6000-L 6000
~ A14/40x40x2-3000 40 40 2 3000
Alsia16 BEE)
A14/40x40x2-6000 6000
— /;/// '
£
//:/ / i
~ A/10x10-3000 3000 A/15x5-2000 2000
AlSizo4 BEET 10 10 15
N 10x10-6000 6000 A/‘l 5x5-4000 4000
A/20x5-6000 20
 A/25x5-6000 25
INISELEY satin 5
A/30x5-6000 30
8000
A/40x5-6000 40
A/50x5-6000 50
A/60x5-6000 60

137



138

Quality

Quality

Quality

Fin

Finish

- A/42.4x2-10x12-1300

A/42,4%2-15x12-2000

 A/42,4x2-15x12-2000-PVC

- A/42 4x2-H-atyp

art

A/40x40x2-15x10x10-2000

A/40x40x2-15x12x12-2000

1300

42,4 2 2000

132

40 40 2000

Fin

art

A/33,7x2-15xM5-2000

A/42,4x2-15xM5-2000

387

42,4

10x10

12x12

2000

12,3

Quality

A/40x40x2-15x12-2000

40 40 1980 12,3

A/0B51...




»

Finish

L Quality

I

AISI304

42 ax2

\
N
o

Dxh

Quality Finish

40 x 40

: ~¢

Quality

Finish

natural 42 4x2

Quality Finish

natural 40 x 40

4

s

art.
AJP/M-1000
AJP/M-1500
AJP/M-2000
AJP/M-3000
AJP/M-4000
AJP/M-5000

AJP/M-6000

art.
WB/M-2000

WB/M-3000
WB/M-4000
WD/M-2000
WD/M-3000
WD/M-4000

art
WBJP/M-2000
WBJP/M-3000
WBJP/M-4000
WDJP/M-2000
WDJP/M-3000

WDJP/M-4000

1000

1500

2000

3000

5000

6000

1000
1500
2000
3000
4000
5000

8000

2000

3000

2000
3000

4000

2000

3000

4000

3000

4000

bxH

75x60

bxH

75x60

75x50

75x50

eJ 9

A/0111-042

4x

5x

(I

A/0111-000
2x

3x

4x

5x

A/0111-042

2x
4x
5x
L5 &
4x

5x

¢J

A/0111-000
2x
4x
Sx
2x
4x

Sx

A/4732-040

2%

|

A-PH 5x20

4x
8x
10x
4x
8x
10x

!

A/5729-242 A-DIN 7380-A2 M5x12

4x

Bx

10x

|

A-DIN 7380-A2 M5x12

4x

Bx

8x

10x

A-PH 5x20

4%

8x

10x

4x

8x

10x

:Q

%7

not assembled
139



4 LED
= HANDRAILS




53

]
2SS ]
3
23
Material Effect art L
_AL{23x24-LED-SET 5000
65
43
@10
5
> /J\
ﬁaf _'\‘ir_/” .. 3
Material Effect art
A14/PD-LED-23x24
2%xM5
gl |
uy
N b
. :
2%x{5,5 14
45
43-45
. wy
(o) (0D | 2
Quality Finish art ' h
PVC  Black A19/PD-LED P
B
A/692...
A/6732-042

D

A14/PD-LED-23x24

A-DIN 7380-A2 M5x12

A14/0112-000-LED-B

- 4

A-DIN 7991-A5 M5x10

/23x34-LED-SET

A19/PD-LED

A-DIN 7991-A5 M5x10 1 :

Q9/03-0,2x9
AL/23x34-LED-SET

@ 3

141



E
(=]
3

142

milk

LED

{_]q?_l_i‘.'!-_ Finish Color . _g[i:_ axb art L{m)
\ PYC | white 5000K LED/24x24 24x24 R T ey 0FS:
SILICONE |
A/6732-042
-~ LED/24x24
A/GLUE...
YEM/2x0,75-SET
A14/4114-042-LED
art. B t b L | art g
Q9/03-0,2x9 02 9 50 A/Glue-50g-C 50




] "
= =

24

YL@

80
24
|

[t gIxglo

@9

2D 6.5

XD &5
X 6.5
xDéS

@14
—

64
43
142,4%2

64
43
|
+
o
(&)
@45
60

64
43

5’08

A14/0112-000-LED-B

A/4111-000-LED

A14/4114-042-LED

tin A/0710-242-LED

o

143



4.4 Ao




760

75

D55




| WELD

o
o o 6@9
S
4
80
art.
- A/0118-270
AISI304 -
A/0118-270-B
D12
| e
—
80

Quality

4.4
% ! D12
:--... I
lw ]
=1 Y,
= 241N et B Zé/
% @\'\ﬁj W =
s ¥
b
art bxH
; A/0110-370-Z  80x75
ieceiied A/0110-000.Z  73x71
@12
| e
| - 7 “/
I | | |
111.5
175

Quality  Finish art

AlSI304

146



SVSIEN SCREW

M5

70

P75
&
N

| Quality Finish art

AISI304 A/0114-000 Zotr

Mé

75

Quality  Finish art

AISI304 .. 5 A/0114-266-M6

B
B

=
(=}

Quality  Finish arl.

AlSI304 BE

147



148

AlSi304 [RESTTE _,_-

T satin a/0110-0008

AISIZ04 e I A/0134.042

T @12
:

20
q/

@12

@70

o

o

P70

Mé

71

=

7

73

T M8x80




SYSTEM

@12
Mé

~ee

75

[AEIKLPEY  satin  A/0130-M6

@12
Mé

75

M8

_ satin  A/0131-M6 @

Mé

@12

PR =
75

| 11,5
175

1 A/0120-000-M6 @

AISI204 |

149



3 Qe 24
e
' " 2x@D 6.5 .
o | A 8
s
=
3 > 2
a 77
5
75

337 A/0111-033

satin 42,4 A/0111-042
AISI304 Q5/07-1
48,3 A/0111-048

ARy 9210 MBx60-A2

polish 424 A/0111-042-L

1 %
AISI316 42,4 A14/0111-042 Y
24
m?—'
b
© s 3
= y,
3 24
= L]
5
75

A/0111-000

AlSI304

150



24

i
EL = 8
P,
=t JF' A
— 5
75
AlSlSO4
AISI316
64 24
= |
' 1" 2x®65 77
k{52

EN
+—,}-
D40
M6
)
@14
N
H

ayt @40 5
'||| 33,7 A/0112-033
42,4 A/0112:042 50 | Tof

AISI304 | 48,3 A/0112-048
g A/0112-042-B-L 52
" A/0112:042-L
| 42,4 A14/0112-042 55
AISI316 | 48,3 A14/0112-048

polish 42,4 A14/0112-042-L

MA
Mzs
L |
£
e T
o E@ /
o
O 7
=1 % e
I 5
] b
Quality art. bxH
A/0112-042-A  75x50
AlISI304 A/0112.042.B ] =
| A14/0112-042-A
AlSI316 - el vl 75x50
polish A14/0112-042-A-L
Q}w 24
= =
o4
o [
a 2
&5 a %/
2| o 1 o
B x
&

Quality

AISI304 §

151



152

Quality

AISI304

art

A/0115-000

Quality

AISI304

art.

A/0117-000-B

A/0117-042-B
A14/0117-042-B

AlISI3
AISI316

[ @65

37

/;f
€
=

@70

-

24

78.5

w H
4
o ﬁ_
64
== (Dg],. 24
[ 2x065 f
L @2 b J
D65 - ©

80

24

4

B70

i

T

80



Quality

art.

A/0145-000

Quality Finizsh art

M8

25

10

13

@50
J

L

P25

22

25

13

M8

@50

B70

h
S
@25

@55

§42.8

\

Ao
S

%8

73

153



7428

71,5

+
32

i
2
3
S
<

1.5

NE—

D42,7

@55

w@ao

OlwW

ore

@

2
8
o
3
8
S
<

Quality
AlSI316

A14/4114-042-LED

154



oi2
50

L

60 x 60

Quality  Finish

AISI304

Y
012
H1

Quality Finish art H1 H2 L

' A/4145-000 52 75
a6 69
4 64 79
49 72 89

80
AISI304

64
43

\ = o2
4 T 2x®6,5

24

A

52
75

012

2P 6,5 'ﬂ

40
40

80

Quality  Finish art

[TEEREY satin | A/4145-042

75

015x1,5

L
&0
Sasd
E

Cuality Finish art

[YSERZY satin | A/4111-000-LED

155



40

h8

&7 |
W o
i ! <
= n
8%
0>
6,5
[
| ™| o
wy
i
= ||
|
7 |

B
»

@25

=
:

33,7 A/0625-033
42 4 A/0625-042

A/0625...




prangey
@14 i /
82
0
— L 1
|
D 42,4x2
43 25%
L
== 3
2P 5,5 -
@14 i i
0| p
~0
— =
: )
D
33,7 A/O717-233 33,7x2,0
42,4 A/OT18-242
, 42 4x2.0
' A/0718-248
48,3
A/0719-248 48 3x2,0
42 4 A/OT718-242-L
42, 4x2.0
: 42,4 A14/0718-242
AISI316 B 48,3 A14/0719-249 48,3x2,6
42,4 A14/0718-242-L 42.4x2,0
@
a e
2xP 5,5 M
@14 2
(%]
L
|
D

Csatin | A/O710-242
polish 42,4 A/07102421 42,420 63
- Aw40710242

| 483 A14/0712249  483x26 65
polish 42,4 A14/0710-242:L 424x20 63

157



Q-
24 21
FSF b
XD b
‘ . 0
| D14 =1
_!_ il 7“-1
|F——|
|
art ] E ~h analc D
A/0711-842 Af0301...
A/0710-842 A/0303...
42,4x2.0
A/0710-842-L A/0303...
o | A14/0710-842
tin A14/0303.
| 48,3 A14/0712-849 48,3x2.6
polish 42,4 A14/0710-842-L 42,4x2,0 A14/0303..
0] D14
2
G e
|
71 42,4x2
satin | A/0700-042
24
ey
" ]
|
Ll
-

| J
$42,4x2

A/0716-000

0 42,4x2

EEE) satin a/o716-242

158




. A/0713-000

T 424 AOT13242  42,4x2,0
AISI304 EETTE
48,3 A/O713248  48,3x2,0

il

A/0727-233 33,7x2,0

A/0727-242-C
polish 42,4 A/0727-042-L 42,4x2,0
| 42,4 A14/0727-242C
INSESEH satin | 4
48,3 A14/0729-249 48,3x2,6

——

satin | A/0727-242-S

AISI304 (SR
polish A/0727-042-S-L

42,4x2

o

| '| 2x® 6,5

~e

(o

6,5

@14

68,5

8,5

€

3
0

159



160

satin | A/0714-042

AISI304 REETTE

~ A/0720-242

' A14/0720-242

D 42,4x2

(D 42,4x2

D 42,4x2

D14

12

@ 42,4x2

42,4

50 - 150

0 42,4x2




IYSERE] satin A/0135-000

AIs1304 §
AISI316 | il

_ A/0135042

= A14/0135-042

. A/0136-042

-
AISI304

polish A/0136-042-L

| 25

40 - 80

40 - 80

| 125

25
E=
(=]
o) S N it
g SN™e
M)
/
80 e
A
/A,..-—'@S i
[ o
W & = 5
g SN
RN
ABRN/,

161



162

AlISI304 EN0155@M 20

AISI316 48,3 A14/0155-048 20

63
e——|
AD55,_| @ !
D14
63
[ —

(el
wn

]
10-18 < - 3
b | |' X}
\
82
Sy
10-18 < = E ‘n?

@®50
G

b=




0-45° 94

o
<
r___ ) I_ g
T
?
Q\
2 O
i_.,—’
D 42,4x2
Quality art
AlSI304 A/0722-242
64
43 24
: T e
! " 2xP 8,5
D12 2 !
1.0
i i L it tlﬂk‘i
! § | 3xp5,5
@ 80 @40
Quality
64 @
43 24
2% 6,5
Bb12 = ;
wy
| ! | |
: — =r t’?“axcass
1 £
D60 @40
Quality  Finish art |
aiiz0al 42,4 A/0708-042-B
| 48,3 A/0708-048
AlSI316 42 4 A14/0708-042
B12
] —-ﬁ?ﬁ
] P‘B ;I
|
== s
1 Lk
60 @40

Quality

AlSI316 |

163



164

D

| 33.7x2,0
42,4x2.0
AISI304
48.3x2.0
| 42.4x2,0
AISI316 =
48.3x2.6

D
33,7x2.0

Quality Fir

42.4x2.0

48,3x2,0
42,4x2,0

Quality  Finish

' 30x30x2
40x40x2
AlSI304 40x40x3
. 50x50x2
60x60x2

AISI316 | 40x40x2

art

= B oo
Y
art H M
A/5735-233-R 4 a8
A/5735-242 10
5735-242-R 5]
A z{}.f/u
A/5735-242-R-L
A/5735-248-R 2] &
A/5735-248-R1 s
A14/5735-242-R
A14/5735-249 85

’ﬁ“‘[ !

art
A/5736-233
A/5736-242
A/5736-242-L
A/5736-248
A14/5736-242

1o i~

art
A/4735-030R
A/4735-040R
A/4735-041-R
A/4735050R
A/4735-060-R
A14/4735-040-R

Lo~

V

D 42,4x2 ml

’%ZZ—-@

A/5738-242-12

Quality

AISI304

Finish D art

A/5734-233
38,7x2,0
*e¥ a/5734-2338
A/5734-242
42.4x2.0
A{ 5734-243

| 48,3x2,0 A/5734-248

Quality

Finish

AlSI304 A/5739-242
\
Quality Finish art
N A/5740-242-12

~N o ;o | C

0 42,4x2 21

[y

M8

42,4x2
D12

NN

83

@ 42,4x2

!

U

@123




flat A/0818-000-B

42,4 A/0B18-042

48,3 A/0818-048

flat A/0818-000-L

polish A/0818-042-L

42,4 A/0818-042-B-L
A14/0818-042-B

N A/0810-942 A/0303...

| A/0812-068 14

satin  A/0812-068-S 12
, |A/0812-068-S1 i
NSk polish A/0812-068-S1-L
i | A/0812-068-M5-S
_ A/0812-075 12
- A/0812-100
AlISI316 ;A14{DB12—038—51 14

A/0814-115-M6

88

75

68
75
100
75

10

o]}

14

@12

Mé

115

7

74

165



1’ r@
A-DIN 7991-A2 M6x8
+
=% &
| = A/1800-0.. A/1890-0... A14/42-55C  A6/42-55-35.B
+
|
M8
Quality art H A/0B11... A/0B12...
A/0813-075-12Z g5 +
A/0813-075-12Z-L
| A/0813-100-12Z 100 0 0 o
£ A/0813-120-12Z 120
A/5734-242 A/5735-242-R A/5736-242 A/5737-242
AISI316 - A14/0813-100-12Z 100
Mé
b1 || il
(T
=

Quality F art D1 H M
i A/0811-068 88 10
0811-068-S1
<! 14 75 Lo~
1 A/0811-068-S1-L I
AISI304 | A/0811-068-S2 | 68
A/0811-068-53 8 .
A/0811-075-128 12 75
A/0811-120-12S _ 120
' A14/0811-068-51 75
AlSI316 14
' A14/0811-068-S2 68
Mé
R 2
o . 14
M8

Quality  Fini

AISI304 §

166



@20
M6
MI10

CQuality Finish art
PIEELES  satin | A/014

A/0708-42-55-35

Quality Finish art D b
33,7 A6/33-55-35B 445 28

AISI304 |
42,4 A6/42-55-35-B 55 3z Z—O#

B
B

HANDRAIL HOLDERS

/
Ly =3
b gl e
=
— _/
7
- A/OT708-42-55-C
Déé
Quality Finish art
A14/42-55C
13,6
o
5 % [~
I -
- q 3
: o ®
j
A14/4114-042-LED

.f}uaht‘; Finish
AISI316 B . A14/42-55

art.

167



168

Finish art

33,7 A/1800-033
A/1800-042
A/1800-042-012
48,3 A/1800-048
A/1800-042-L
| A14/1800-042
48,3 A14/1800-048

Quality

42,4

AlsSI304

. 42,4
AlSI316

Quality

AISI304

Finish art.

Quality Finish art.
' 424 A/1890-042
48,3 A/1890-048
42,4 A14/1890-042

48,3 A14/1890-048

AISI304

AISI316

AlSI316

a

21

23

flush angle

A/0300...

24

=

1

A-DIN 7991-A2 M&x8

0 -

flush angle

A/0301...

A/0303...

-

)

36
18,5
I
wy
EE©)
2% 06,5 d5e
Pi122
%% W ==/ B

P14

D424




18

Quality

AlS1304 A/0303...
34
18,5
i
(O ©
2P 6,5 35° '
Quality  Finish art,
Quality  Finish : art
33,7 A/1800-233

AlSI304 8 42 4 A/1800-242

" 48,3 A/1800-248
AlSI316 42,4 A14/1800-242

63 i 25
[ ! 1 | : (‘0*
D4 C) SI F i
14
Quality Finish art 2
AlS1304 A/1800-200 3
_ A14/1800-200
AISI316
A1§/_1800—200—B 5

RS

HANDRAIL HOLDE

169






MODEIL
MobcL

10
12

art

[ A/0822-033 10

| A/0832-033 12

D22

A/0823-033

- A/0833-033

.

N/

IN 7991-A2 M5x16

1



D424

~ 1 Jes
!
) ™
=
o
[0}
| A/0825.042 10
_satin  A/0830-042 12
A/0835-042 14
A/0825-042-L 10
polish A/0830-042-L 12
A/0835-042-L 14
satin  A14/0830-042 .
polish A14/0830-042-L
(424
1 des]
|
@22
A/0831-042
_ 12
A/0831-042-L
b7 A14/0826-042 10
~ A14/0831-042 12
P424 D424
T ges) T ges
0 w
=] 8
o N, o
P22 @2

A/0822-042 10

~ A/0823-042 10
A/0832-042 A/0833-042
A/0832-042-L 12 A/0833-042-L 12

A14/0832-042 IEESCE satin | A14/0833-042

172



~satin  A/0840-042
AISI304 §

A/0840-042-L 16
polish

AISI316 A14/0840-042-L

D424

SRR satin | A14/0841-042 18

D424
N + 65
& N
b
2 @25

satin | A/0842-042 16

D424

(=)
5|
@16

A/0843-042 16

AIS1304 BT

173



$483

] D22

AlSI304  A/0830-048 12
AISI316 A14/0825-048 10

~ A14/0826-048 10
" A14/0831-048 12

@483 : ) 1483

P22

~ A14/0822-048 10  A14/0823-048 10
AlSi316 IWEESC] satin
A14/0832-048 12 A14/0833-048 12

174



7483

175



A/0825-000 10
satin = A/0830-000 12
A/0835-000 14
polish A/0830-000-L 12
~ A14/0825-000 10

AlSI316 BEETTE
A14/0830-000 12

765

205

. A/0831-000 12
7, ~satin | A14/0826-000 10
| A14/0831-000 12

| A/0822-000 10 A/0833-000
A/0832-000 12 A14/0833-000 ?
polish A/0832-000-L 12
ISR satin - a14/0832-000 12

176



_satin  A/0840-000
AlSI304 .
polish  A/0840-000-L

EEILY satin - A14/0841-000 16

satin  A/0842-000 16

‘satin  A/0843-000

177



VERTICAL

Quality Finish ; art.
flat A/0855-000
42 4 A/0856-042
flat A/0856-000

Finish art.

A/0832-012-0

Quality

AlSI304

B
o

Finish art
A/0830-012
A/0830-014
A/0B30-016

Quality

AISI304

a
:

Quality Finish art.

AlSI304

Quality Finish art

42,4 A/0855-042

AISI304 |

178

A/0801-042

28

d
12
14
I |
=i
B\
B2
o o
! - ﬁ—}
©
Y
=
d
12
14
" d10  A/D825-000  A/0823-000 A/0822-000 A/0825-000
= T | | A/0830-000
a | d12 | A/0830-000  A/0833-000 A/0832-000 A/083-PIN A/0835.000
d14  A/0835-000
| d16 | A/0840-000  A/0843-000 A/0842-000 A/083-PIN A/0840-000
AIS| 304 satin example. Combinations alse availiable for AISI 304 polish and AISI 216 satin,




MENN VERTICAL

\
T

@123
S

Quality Finish art

| fiat A/0851-000
33,7 A/0851-033
42,4 A/0851-042

@22
% 1
T o
/@

Quality _ art L
42 4 A/0850-042 32
32 |Tofr
d o 6-12
T
[Te} o
= = \&—5
i}

Quality Finish art d
12
16
L
T y.ane
1Bx30 S

Quality Finish art. D L
33,7 A/0502-033 _— 30
42,4 A/0502-042 ' -
42,4 A/0522-042 42 4

c.'n
I

179






Quality Finish art.
1 33,7x2,0 A/0305-233

A/0305-242
42,4x2,0
A/0305-242-5

148,3x 2,0 A/0305-248

42 4x2,0 A/0305-242-L

48.3x 2,0 A/0305-248-L
A14/0305-242.8

42.4x2,0
A14/0305-242-L

art
33,7x2,0 A/0303-233
A/0303-242
42 4x2,0
A/0303-242-B
48,3x2,0 A/0303-248
A/0303-242-L
42 4x2.0
A14/0303-242
AISI316 B | 48,3x2,6 A14/0303-249

42,4x2,0 A14/0303-242-L

Quality Finish

art
33,7x2,0 A/0301-233-S
42.4x2,0 A/0301-242
| 48,3x2,0 A/0301-248
A/0301-242-L
42,4x2,0 A14/0301-242
A14/0301-242-S
| 48,3x2,6 A14/0301-249

36
30
44
35
30
35

30

25
30
3

30

35
30

20
30
35

30

44
35

: Loy

181



182

Quality Finish art

1 33,7x2,0 A/1305-233

42 4x2,0 A/1305-242

48,3x2,0 A/1305-248
polish 42 4x2.0 A/1305-242-L

| raw  337x2,0 A/1305-233-N

AISI316 42,4x2,0 A14/1305-242

Quality Finish art
y 33,7x2,0 A/0300-233
AISI304 peno A03002428
" A14/0300-242-B

AISI316 ; OO . . oot
48,3x2,0 A14/0300-248

Quality Finish art
33,7x2,0 A/0307-233
: A/0307-242-S
polish 42,4x2,0 A/0307-242-L
A14/0307-242-S
48,3x2,0 A14/0307-248

38
48
57
48
38
48

H
25

55
69
81
69
55
B9

a +-




33,7x2,0 A/0308-233
42,4x2,0 A/0308-242

AISI304

33,7x2,0 A/0304-233
AISI304 A/0304-242
polish 42 4x2 0 A/0304-242-L
A14/0304-242

48,3x2,0 A14/0304-248

AISI316

24
30

25
31
29
31
35

30

=

183



']
S
5
o
A
z
(o]

184

4é

P,
450

100

A20/0790-042-R A20/0729-042-3

.

Lot
215
@15 ]
8]
Finish D art Quality Finish D art
B h WB/D42-90°
Beech natural 42 WB/D42-45° natural 42 '
| oak WD/D42-90°
35 . 20
u
o) \ o
ol o . ﬁ 4 ©
| L% \ 1 3 |
i
Quality art
AISI304 A20/0790-042-R l
| iy A20/0000-042 .
A20/0000-042

e wWB/D42-L...
WD/D42-L...

-_— A/0305-242

i%

A/0302-242

T \WB/D42-L...
WD/D42-L...

)

9




Quality Finish art.

33,7x2,0 A/0302-233

42 4x2,0 Aj0302-242

148,3x2,0 A/0302-248
A/0302-242-L

42,4x2,0 A14/0302-242
A14/0302-242-L

AlSI304

Quality Finish art

A/0312-242-B

AlSi304
polish A/0312-242-L

AISI316 . A14/0312-242

Quality Finish art.

38,7x2,0 A/0302-033

AISI304

42,4x2,0 A/0302-042

H
22
27
29

27

1o ?ff\

38
46

27,5

0 42,4x2

185



g
::5
L
=
=
Q
o

Quality  Finish art

AlSI304 I. . A/0313-242

Quality  Finish art | \|

Quality

AISI304 §

art
AT7/42-55-B . ﬂ

35

@ 42,4x2

@42 4x2

WB/D42-L... . A7/42-55-..
< WD/D42-L...

=
&

A20/0790-042-R B

H
'
i

1

H

A-PH 5x35"

186




e 1 T .
8 {—- 1= = H =
i | | s 25 36 }
Finish art D Quality Fini art
: 12 A/0302-012 AlSI304 | - A/0302-012B
AISI304 14 A/0302-014
A/0302-012-L 16
12 A14/0302-012
AlSI316
A14/0302-012-L
e 4-—/ -1 2
L=
18 30
Quality Finish C art D art
10 A/0302-010-S 12 AlSI304 | A/0302-016
AlSI304 ?.‘of{n
A/0302-012-8
- 12 14
AISI316 A14/0302-012-S
10
i
S
o2 A
53 i
M8

@14 \
. @

Quality Finish art

AISI304 A/0313-012

| 12¢1,5

Quality Finish art

AISI304 .12 A/0302-012-C

187



L
Quality art. L D
10 A/0012-010 80 12
AlSI304 3 -
12 A/0012-012-B 70 14

a1t

12x1,5 A/0013-012

AISI304

s“’qﬁ

o]

ar.
10 A/0220-210
12 A/0220-225

Quality Finish : art H

12x1,5 A/0305-012 9
AlSI304 .“{'o,{_‘ﬁ AlSI304
16x1,5 A_/0305-015 A

188



40 B
5
b art Quality Finish art D B
AlSI304 | 1r 5 AV0041-0128 10 A/0040-010 12
1 X
3 At 12 A/0040-012 14
AISI316 | A14/0041-012 AlSIoon A/0040-01: ) g
14 A/0040-014 16
16 A/0040-016 18
H
= 5T \
IR A I N I A
e T e S (___ - (
70
art H Quality Finish art.
33,7x2,0 A/0790-233 5 —_— 33,7x2 A/0791-033
| 42,4x2,0 A/0790-242 4 Lo~ 42,4x2 A/0791-042
AlSI304 "
| 48,3x2,0 A/0790-248 6
A/0790-242-L 5
. 42.4x2.6
_ A14/0790-242 4
AISI316 | 148,3x2.0 A14/0790-249 5
42,4x2,0 A14/0790-242-L 4
J 8l «
o 1] 5]
NN 8 g a
= T 3
4
5 10
Quality Finish art Quality Finish art
AISI304 | A7/42-11-A AISI304 A7/42-11

189



4- 7 (E'JI:BS




Quality  Finish ! art. H Quality art H
33,7x2.0 A/5729-233B 5 Lob 33,7x2.0 A/5728-233 6
AISI304 42,4x2.0 A/5729-242 e -0 A/5728-242
“ 9,520 h 8 roap o A/ST28:242:A o
A/5729-242-L LS A/5728-242-B 4
xiSitip 42,4x2.0 A14/5729-242 6 __ A/5728-242-C 5
A14/5729-242-1 42,4x3,0 A/5728-243 8
H
M
\ §
@ = ot T g - \ S
Quality  Finish art H Quality  Finish art H
' | 33,7x2,0 A/5732-233 § 33,7x2,0 A/5731-233 1,4
42,4x2,0 A/5732-242 Lo AlsI304 A/5731-242 .8
e anaxpq 2192:248 = ' S :/127:;:1432 ] Z
e ) AlSI316 -
A/5732-248-B 45 2
A/5732-242-L
42,4x2,0 A14/5732-242 3
AISI316
A14/5732-242-L
H
@
Quality Finish art H Quality Finish art H
' 33,7x2,0 A/5730-233 17 AISI304 [BE 42 4x2,0 A/5733-242 21
424x2,0 A/5730-242
AISI304 [ | A/5730-248 23
48,3x2,0
A/5730-249
A/5730-242-L
42, 4x2, 0~ o 21
AISI316 A14/5730-242
= H
b ol lar .
BBl e = o2ame = g E
S AT
. Quality  Finish art H
AlSI304 | 42,4x2,0-2,6 A/0014-042 7,5 Quasty =i =
 eete, e - : AISI316 | 42.4x2,0 A14/0736-242 40
12x1,0-1,5  A14/0014-012 3 '
AISI316
42 4x2,0-2,6 A14/0014-042 7.5

191



L
Quality  Finish art L H
33,7x2,0 A/O739-233 55 57
A/0739-242-5
424 %20 66 66
A/OT739-242-L
33,7x2,0 A14/0739-233 55 4
- 42,4 x2,0 A14/0739-242 66 66
48 3x2 6 A14/0739-249 75 77

A
@15

Quality Finish @ art L H

WB/D42-86°
42 - : - 97 90

natural WD/D42-86°
50 WD/D50-86° a9 a5

D 42.4x2

85

64

Quality F h
AlSI304

A/0739-242-R

/,\“H-
|
4240

Quality art

IXSELYY satin | A/0737-242

192




H
+ - 8 0
33,7 A9/33 47 38 27
CUSEDEY 424 A9/42 55 44 30
I I‘ 48,3 A9/48 65 52 38
AlSI316 42,4 A14/9-42 55 44 30
a° a°
BER BER
L L
AT/42-11-4
Juality Finish art L Quality Finish ; art L
& 42 WA/D42-G2 21 _ WB/D42-G2
AISI 304 50 WA/D50-G2 25 . natural 42 WD/D42-G2 20

4.7

Quality Finish art, L Quality Finish art M
natural 15 WOOD/D15x40 40 WOOD/M8-D 8
Fe WOOD/M10-D 10

WOOD/M12-D 12

193



AISI304

Quality Finish

polish

Finish

mﬁn

33 A/1732-033
40 A/1732-040
42 A/1732-042
48 A/1732-048
50 A/1732-050
60 A/1732-060
80 A/1732-080
A/1732-100
A/1732-100x6
120 A/1732-120x6

42 A/1732.042L

48 A/1732-048-L

| 42 A/1732-042-N

D t ||
Lo A~
a4
<]
4
d

FYEIRGES  satin  A20/0729-042-R

nish

Quality

33 A/1733-033
48 A/1733-048

040

ISR satin | A/1734-040

A20/0729-042.R

: g

LA e

ALUMINIUM  raw 42,4 A20/0000-042

194

D 4]
B ) an a
33 A/1732-033-12 12,5
40 A/1732-040-12 12,5
50 A/1732-050-10 10,5
35
=
o
- — g
art
40
i e
o~
g 4+——1—F 82
B =l
680 50

| |
A-PH 5x35 A20/0729-042-5

MOJ’OOOO-OAZ
(muster)




D art
| 12x1,5 A10/0010-012
| 16x1,5 A10/0010-016

Quality  Finish d art
. | 10 A10/0015-010
12 A10/0015-012-A

satin
14 A10/0015-014

AISI304 :
16 A10/0015-016
z 12 A10/0015-012-L

polish

16 A10/0015-016-L

| 12 A14/0015-012-A
1 14 A14/0015-014
| 16 A14/0015-016

AISI316

Quality  Finish D art
y

PVC gray 424x20 A9/42-PVC

Quality Finish art

PVC  gray 40x40x2 A9/40x40-PVC

-
p-f]---|d
(I 1

Lo
D L H
15

15 5
16
18 21 [}
14 15
18 21 5}
15

15 5
16
18 21 [+

Quality Finish D art. H

' 12x1,0-15  A14/0014-012 3

_:16)(1,0—2,0 A14/0014-016 35
.‘.42,4)(2,0—2,6 A14/0014-042 75

Finish d art. D L H
10 A10/0017-010
12 A10/0017-012

Quality Finish D art

PVC gray 12x1,5 A10/12-PVC

Quality  Finish art

PVC gray  12x12x1 A9/12x12-PVC

195



L
H
i * '
- - @9 Lo
3 \ &7 7
Quality Finish d art D L H Duality Finish d art L
5 A/0221-010 20 19 7 A/0224-2012 20 15,5
1
A/0221-2510 25 23 10 12 A/0224-2512 25 22
AlSi304 T
A/0221-012 20 18 5 - A/0224-3012 27
30
“ﬁn 12 A/0221-2512 25 24 12 14 A/0224-3014 26
a A/0221-3012 30 28 13
14 A/0221-2514 25 22 8
A/0221-014 20 17 6
16 A/0221-016 25 22 9
12 A/0221-012-L 20 18 6
polish
16 A/0221-016-L 25 22 9
satin A14/0221-012
AISI316 i P 20 18 8
polish Al14/0221-012-L

art M
40 A/0220-040-R

1 L ar

47 Quality Finish [ t
15 A/0220-015

20 A/0220-020 A/0220-050-R ®
satin 25 A/0220-025 ® A/0220-050-R-B 10
30 A/0220-030 60 A/0220-060
| 40 A/0220-040 70 A/0220-070 ®
satin | 80 A/0220-080R
AlSI304 100 A/0220-100
97 A/0220-100-B 10
120 A/0220-120
150 A/0220-150
200 A/0220-200 12
ol 50 A/0220-050-R-L 8
A/0220-080-R-L 10

196



Finish

[[Brass poiish

12 B/0221-251

H
..f' _____
25 23

d it

12 B/0224-2512

= ik
D
25 29

197






— ——
[\
L)
D =
Guality Finish d D b art
33,7 103 o A/0512-033
73 n A/0515-042-B

83 10 A/0516-042
88 14 A6/90x42x13-S
17 A/0512-042 Lo~
21 A6/105x42x25

AlSI304 123 24  A/0513-042 \
17 A/0512-048

42,4
103

48,3 -
103 22 AB/105x48x25
50 : 0512050 = Quality Finish d D b art,
50, 17
_N iisidie 12 435 12 A14/0517-012
73 1 AM0515-0421 42 1085 17  A14/0517-042
42,4 88 12 A6/90x42x13-L
A/0512-042-L
17
A14/0512-042
42,4
103 22 A14/105x42x25
17 A14/0512-048
48,3 23 A14/105x48x25
123 16  A14/0513-048
50,0 A14/0512-050
103 17 _
42,4 A14/0512-042-L
Quality Finish d D b art.
- 88 11 A6/90x00x13-S
Ak = 103 17 A/0512-000
Quality Finish d D b art
43 12 A/0514012B o~
12 58 A6/60x12x12
AISI304 72 11 A/0515-012
14 43,6 A/0514-014
A/0514-012-L
12 43 12
AISI316 A14/0514-012

199



55

Quality Finish art.
AISIZ04 | | A/0942-242
AlSI316  A14/0942-242

T 42,4x2
R
‘ e
i
| :
I
"/,\_e_/j'
3xD?
@100
Quality  Finish art H
| 55
AISI304
H A/0941-242x120 120
"5:1' ol
1 1] —1
& 3|
=z &
=3
g =
: = Di
Quality Finish art D d D1 D 12
33,7 A/0940-033-N 70
42,4 A/0940-042-N _ Lo
48,3 A/0940-048-N-B 11 75
42,4 A14/0940-042-N
48,3 A14/0944-048-N 120 20
s
S
“a
=
&
85 |
16

Quality Finish art

IR oseo-toous

200




RUBBER
s

b |
= S
= =1
)
&
85_| |
17

Quality Finish art.

AISI316 A14/0949-042-N

O

/

J |
42,6 f
D1
o}
Quality Finish art. D d D1 t
A/0948-042 100 M 75 6
AlSI304 A/1951-B5x42x4-N 85 9 68 i
A/1951-100x42x4-N 100 1 72
@11
fan
D) = v 1

Quality Finish art D Di 6
A/1950-100 100 72
AlSI204 -
A/1950-120 120 87
U
Quality  Finish art. D d D1

EEETINEE A/ 1952-85x42x4N 85 9x20 68
201



202

Finish art
AB/B5x42x6-S

Quality

AB/100x42x6-S
n  A6/120x42x6-S
AB6/85x42x4-N

AlsSI304

A14/100x42x6-S

Finish art.
A/0946-85x4-N
A/0946-100x4-N
A/0946-042-N

Quality

AISI304

Finish art
AB/B5x00x6-S

Quality

A6/100x42x6-B

A6/100x42x4-N

_85

D d
85 8,5
100

n
120

85 9

100 1"

Quality Finish art.

D d
9x20
100 11x25
D d

A/1954-100x42x4-N 100 11

3xd

i | A
cl\eRglc
oo N 5]
N\ /
D1t | 7T ;
65 DI
70 B
73 8 "{Orff‘*
80
68
4
T2
718
3Xd -
)|
\-_I -
N\ 1%
G426 i i
Dl
D
D1 t
68
72 *
77 6
n:
D1
72



Quality  Finish art. |
AISIZ04 in  A/0112-LED-PLATE |

73]
L
0]
=
<
T

203



art

Quality Finish

IAELER satin | A/3501-042

Quality

n  A/0501-042

Quality

204

B 42,4x2

I25 max.

M12

D62

@ 42,4x2

e

@125

T80

MI12

r

D60




D42, 4x2

e
o
=] |
o
2 t
y \
D75
Quality  Finish art.
- A/0506-242
A/0506-242-B
@
L0
£0a
o
= s
ré
= i
T
D
Quality Finish y art. D H1 HZ d
33,7x2 A/0945-233 71 30 21 85
AlSI304 3
A/0945-242-B
= 81 35 85
42 4x2 A14/0945-242-B 27
AISI316
A14/0945-242-C 80 38 9
@ 42.4x2 69.8
= f
B N /
ha g )
0
-5
=
b4
. B m_g
b é5
z - @81
Quality Finish art.
AlSI304 A/0507-242
AISI316 - A14/0507-242 D 42,4x2

44

82

3xDé5

Quality  Finish art.

AlSI304

205



206

Quality  Finish art.

JYEELTY satin  A/0315-242

Fi art 3]

| 337 A/0504-233 42
‘satin 42,4 A/0504-242 50

48,3 A/0504-248 55
polish 42,4 A/0504-242-L 50
33,7 A14/0504-233 42

PSRN satin

42,4 A14/0504-242 50

INEEGPY satin A/0503-042

Finish art D

A/0505-033
33,7 85
| A/0505-033-B (weLD)
satin 1p.4 0505042 95
AISIZ04 ' A/0505-042-8 80
48,3 A/0505-048 100
. A/0505-042-L 95
polish
o A/0505-048-B-L 100
' A14/0505-042 55
in A14/0505-042-B
AISI316 I 483 A14/0505-048 100

42,4 A14/0505-042-B-L 85

polish
483 A14/0505-048-L 100

30

25

30

25
30
25
28
25
28

56
6.5

5,5
6,5
5,5

%P7

16,5

25

(¢ 3
= i J
= 2/
27 27 W &
Y

() 80

48

D424

o




@16 &
=+
Quality  Finish art.
4, [0 AG/80x5-M16 |
40x40%2
L
| A
! &
~0
o ‘ .
o4
]
A40x40x2
L 25
-0
NN
g a O 32 [
0% I‘, o
a5 4 & I N
Quality  Finish art 75
AISI304 | 100x100
W‘E‘
Ay
(42,4%2 5 =
o
_]_m
! &
[p]
3 3
. -
342, 4x2
25—-—
o B
wy
o \ f%
i
Quality  Finish art.
AISIZ04 | A/WT18-242
0 — +

L

WE-VR90-4D12 A/W718-000
AWT16-242

i

WB/D42-post

207



208

Quality Finish art. |
337 A6/021-033 Lo
42,4 AB/021-6-A
AISI304 -
48,3 A6/021-048
AB/021-6-L
42,4 =
AlSI316 A14/021-6-A

Quality Finish { art.
AlSI304 42,4 A6/021-6-A/B

Quality Finish art.
AISI304 | n A6/021-6-A/C

®100

@100

@100

Quality Finish art.
AISI316 A14/024-0UT-B




Quality Finish art.
AISI316 - A14/024-IN-B

219
#33

Quality  Finish art.
- A/1732-033-R25

424

Quality  Finish D art.

| 33 A/1732-033-12
AISI304 | 40 A/1732-040-12
50 A/1732-050-10

12,5

10,5

AG/48

AB/021-6-A

A/1732-033-R25

A-DIN 7991-A2 M8x110 A-DIN 1587-A2 M8

-

A6/005-4W

+ P + 550 + D

A/1732-033-12

A-DIN 7991-A2 M8x110 A-DIN 1587-A2 M8

209



210

@100

Quality Finish art.

Quality Finish ] art. D d
AISI304 | AB/2x42
! 120 1
42,4 A14/2x42
AISI316 A14/2x42-150
150 13

48,3 A14/2x48-150

Quality  Finish art.
~ AB/42-130x60

120

Quality  Finish art

AISI304
polish A6/004-6-L




Quality  Fini art

AISI304 AB/42-120x50

Quality Finish art. Lxb s dxa D1

AB/42-1B0x70 40

AISI304 § : 180x70 11x20 81,5
AG6/42-180x70-B 35

AlSI316 A14/42-135x54 135x54 368 11x13 70

Quality Finish art.
A6/42-20-8 Lo

Quality Finish artk. H 5 b
% 33,7 A/3507-033 36 46
AISI304 |
A/3507-042
16 50
A14/3507-042 35
AlSI316 | 3
48,3 A14/3507-048 55

21



90
70

Quality  Finish art.
Alsiz1c B A14/021-6-plate

Quality  Finish art L
A/012:45 i

sain A/012120 120 74
AISI316 A14/012-45 45

AlSI304

Quality Finish art. /
(AEIEDEY  satink A/012-95

Quality  Fini

art e
= Quality  Finish art.

AlISI316 A14/012-02 AlSI304 A/012-07

212



213



4 SQUARE
B SYSTEM




43

) %D b
c14

C140x2
Quality Finish art H
| ~ A/4718-000 81
AR ) A/4718000B B80S
AISI316 | ~ A14/4718-000 81

63

D 2P 5.5
014
0140x2
Quality  Finish art.
AISI304 | A/4718-042 Lo~
AISI316 A14/4718-042
65
o

| 25,5

C140x2

Quality  Finish art. |
AISI316 A14/4710-000

C140x2

Quality  Finish art. |
AISI316 | A14/4710-042

.

68

67

8]

Bl

215



31
24 1

| / 1] 2D 6,5

8]

C140x2
Quality Finish art.
AISI304 A/4710-800
AlSI316 A14/4710-800

B
bl
2
7
J :#
C140x2
Quality  Finish art
AISI304 A/4710-842
AISI316 A14/4710-842
D65
== 7T |
| o
2 | <
2 i G
? ! . ,
! 3
------- — 89
40
Quality  Finish art
in | A/4111-000
| ~
EeRE | B O | ESSAO ! o} o
wy
. ~
2N =
\
1 Sﬂ D ]
2 fe=ia] |
& - -
. Y
3
________________ 92
&0

Quality  Finish art.
AISI304 A/4111-042

216



40

2% 6,5

38

o 3
El
32 S
>
o
o
B0
g—-
o
O
-
80
A
KL
2
e}
~
o &
O
80
24
ot
o} ]
— [
ks
o ‘ “
D
H
B0

A/4111-000-LED




218

75

Mé

_@ﬂ;

14x14

Quality Finish art

A/4811-040

75

52

M8

Mé

14

Quality  Finish art.
A/4812-040

|

Quality Finish art.

A/4735-030-R

: ”4?-35—0403

AISI304 | A/4735.041-R

- A/4735-050-R
| A/4735-060R

AISI316 . A14/4735-040-R

M8

g

30x30x2
40x40x2 Lo
40x40x3
50x50x2
60x60x2
40x40x2

eEal

wy
1 ~
L
' o
40%40
25
Quality Finish art. H
Alsizo4 § A/4505-040 28
AlSI316 A14/4505-040-B 23

T 9

A-DIN 7991-A2 M6x8

@?+® @

A/1800-0... A/1890-0... A14/42-55-C A6/42-55-35-B

| {

A/4811-040 A/4812-040

e

A/4735-0.-R

I__g_l
1

8.5

47
|
40x40

Quality  Finish art
AlSI304 - A/4504-040




Quality Finish art.
' A/4732-030

A/4732-040
AISI304 N4732-041
- A/4732-050
A/4732-060

30x30x2

40x40x2

AISI316 | A14/4732-040

Quality Finish art.
A10/4023-012
' A10/4023-12x12

AISI304

Quality Finish art.
A/4810-000
A/4810-000-C

A/4830-000
~ A/4821-000
A/4822-000
A/4823-000

AISI304

40x40x3 5
50x50x2
BOx60x2
40x40x2 4

axb

A axb
10x10 14x14
12x12 16x16 |

[

A
10x10

12x10
12x12
15x5
15x5
15x5

= =

axb Ren
20x186
23x186

25x 25 25 left
rght

Quality

AlSI304

art.

A0S0
B OGN

40

219



=
i
7
0
=
g
w0

220

Quality

AISI304

| Quality

AlS1304 |

Quality

AISI316

Quality
AlSI304

AISI316

Finish

Finish

art

A/4010-012

art

-A/ 4301-040

A14/4301-040

Lo~

art

A/4307-040
A14/4307-040

014

L

010

75

Ol1é

012

71

25

25

C140x2

[140x2

30

C140x2

1 40x2

60

30

T
[140x2




25

L
| S
il <
i ]
=2 |
Quality Finish art 1. 40x2
A14/4308-040
a0
o 1
S = = . 4
¥
O wy
o~
7 —
i
|
C40x2
Quality  Finish art
A14/4309-040
4.9
E‘.
<
A} m_.'
& i
g o)
Quality  Finish art. 040x2

AlSI304
AlISI316

[ 40x2

Quality .F|ru'3h art.
AlSI304

AlISI316 |

221



222

Quality

Quality  Finish art. axb H

| A/4511-9340 9303 25

AISI304 | A/4511-9640 96x96 20
A/4511-040 Lot~

108x108 24

AISI316 | ' A14/4511-040

. Quality Finish ) art.

AISI304 | A/4513-9340

art.
A/4941-040

Finish

— - —_—

40 % 40

40x40

@93

70

©o__ o
O [
o=,

4x P12

40x40x2

|




| Quality  Finish art
AISI304 A/4940-040 Tof
AISI316 A14/4940-040

Quality  Finish art.

Quality  Finish art axb

A/1981-092x40x4-N  92x92

| Quality Finish art axb
A/1980-092 92x92
A/1980-100 100x100

[

A/1981-088x40x4-N B8x88 65

687

A/1981-100x40x4-N 100x100 70

xd
T2x72
80x80

100

75

8e +O
3. ?
As
i
s
g
) 4
f— d -
. | _
'\'\
>
2 O ESd
4
040 i
c
c 9 |,
0

y

i
©

s
7
0

223



=
=
g
<
a
0

224

Mié

100

95

75

24
o | ©
\ ##

Quality Finish art

Fe F4l [ AB/95x95x5-M16

Quality Finish art
AlSI304

AlSI316

Quality Finish art
INCELGPY  satin - A6/005-4-distanc

120

Quality  Finish art.

A6/40-120x50 |




Quality
AISI304

Quality

AISI304

Finish

art.

AB/26x26-31

120

60

A
©

S
§

225



-
A -, e i
" m o« I
= i A
> I8
5 i

e
AT 2R
a7
ol

clEl=] 88
LA m,. 1
AT
Bl & k
AL :
i i
;1 = 1 5
» -







5_1 CANOPIES




ALUMINIUM. antracit RAL  AL/PR1-S-EB-1400

10,76

1,0 v

AL/PR1-S-EB-1400 1x 1x 1x 2x 1x LED set
800
42
~0
B
o
1 —
i
113
4
3
o
hd
( Illllllll.
( II\ II\
( o © i @
[ [
2,5 50 4x260 260 50 ‘
1405

229



230

136

acomniow EET] ELox  AL/PR2NE-2500
CERTIFICATED: Glass TVG/VSG

AL/PR2-N-E-2500 1%

17,52 - 21,52

17,52

1.5

1% 1%

D T it
SN T
> ] o |
A
(w]
L=
5
E
v
w 2500 A
250 250

Bx 1m

C€



THPA

L
Quality Finish Effect art glass t G max. (kN) -:\'jﬁf-—
16,76 b
GEENEIR ELOX AL/PR3-N-E-3000 1752 20

CERTIFICATED: Glass TVG/VSG

AL/PR3-KIT

1x 1% 2% 1x 2%

B 115 ~——
21 | —— max 1000

_

80

7

3000

o
o
%
o

3000

200 200

W
8®

19

231



()
m

IE]

| ——— AL/PR4-N-E-3000
ALUMINIUM ELOX 21,52 1,5 v
AL/PR4-N-E-6000

CERTIFICATED: Glass TVG/VSG

AL/PR4-N-E-3000 3m 3m 2x3m 7* 3m 12x

AL/PR4-N-E-6000 Bm Bm 2xB6m 14x 6m 24x

100 250 250 250 250 100

TN
G
G
G

n

G

€

G
et |

@12
@12 A I
B R— N =
- =
a = — ] -
ol Q :
B min. 100
><'
o _ =
E = S

1000

232



Quality

Finish

art.

glasst G max. (kN)

s [ oo

= [

17.52

1.3

max. 1000

'AL/PR4-N-E-3000 3m 2% 2x3m 15x%
9.5
o S
18
LS = 15
&Y 212
965 )
98
100 200 200 200 200 100
) }
)
100 200 , N 200 100

7
w
o
(©)]
£
(&)

233



CANOPIES

H

Quality Finish art
GS14/PR-R3-M12-set-1400
GS14/PR-R3-M12-set-1400-M
 GS14/PR-R3-M12-set-1800
" GS14/PR-R3-M12-5et-1800-M
GS14/PR-R3-M12-set-2400

GS14/PR-R3-M12-set-2400-M

800-930

920-1080

GS14/PR-R3-M12-set

art

GS14/PR-R3-M12-set

1400

1800

2400

STATIC STUDIO

a¥e i BNy |

T

2%

3x

M12

A14/PRTOx

2x

3x

40-80 A4

2%

3x

GS14/PR-R3-M12

A14/PR-EC

2%

M12

2x
Al4/PR12
-1000-M12
2x
Al4/PR12
-1250-M12
3x

Al4/PR12
-1250-M12

GS/12,76-140x100-clear 7{0»{»
GS/12,76-140x100-milk
GS/12,76-180x120-clear
GS/12,76-180x120-milk
GS/12,76-240x120-clear

G5/12,76-240x120-milk



oy /7Y
)
[ L
48
m
IOLlZﬂIf‘,J Finis art.
AlISI316 & A14/PR70x40-M12
5
03
<
1
'Guahty Finish art.
A14/PR-60-M12

Quality Finish art A14/PR16-55x28-M10

A14/PR-2x60-M12 2%

% 1x

Quality Finish art.
AlISI316 A14/PR70x40-60
30 @5 30
I-_- i P I
W™
8 8
] 3
o =
z £
| Quality Finish art. L
- A14/PR12-1000-M12 1000
. A14/PR12-1250-M12 1250
AlSI316
A14/PR12-1500-M12 1500
A14/PR12-2000-M12 2000
10 - 310
MAT2L
28
T El
:
28 o

235



800-930

Quality Finish

2% 2% 2x 2% 1%

o0
w
o
O
Z
Q

Quality Finish art. A14/120-R A14/120-70-R Al4/TO-R

GS14/PR-R-M12 1x 1x ix 1x

236



A14/120-R A14/120-R-B

Quality Finish art.
' A14/120-R
A14/120-R-B

Quality Finish art.

A14/120-70-R

Quality Finish art

AlSI316 A14/70-R

Quality Finish art.

' A14/PR12-1000-M12
A14/PR12-1250-M12
AISI316 {

A14/PR12-1500-M12

A14/PR12-2000-M12

1000

1250

1500

2000

D0

2x 10 |

@120
1276 17.52

Ja
213

| 1276-17.52

M12 - LEFT

M12 - RIGHT

237



238

EER satin Gs/PR-825x405




[

150
o5 7 .
2 A14/PR12...
o™
h
o
o
@ /.
— ¥
a J
T 1

Quality Color art. a b h \

[ as/12,76-140x100-clear Lo~
T — —— 1400 1000 B800-930
GS/12,76-140x100-milk
VSG/ESG ) o 2 x A14/PR12-1000-M12
-1631112!T8a18m1zoﬂemr-
- N 1800 1200 820-1080
GS/12,76-180x120-milk
150 _ 1050 1050 N
=1
|
(3]
1 |
Q
[+
a

Quality  Color art. a b h \

_ -ss}*isz'ﬂem.'rzoz-clear
VSG/ESG —__*__ 2400 1200 9201080 3 xA14/PR12-1250-M12
GS/12,76-240x120-milk
[75)
L
o
O
Z
(®)]
1400

o

Quality Color art

VG - GS/10,89-140x90-TVG

239



- g g el
S

5 _ 2 SPIDERS

A e,

#% = = -

S Ak

S Tyt ot IS 4y 5 P

4



Quality

Quality

Quality

AlSI304

Quality

AISI304

Finish

Finish

Finish

Finish

art

GS/ZP-101R-95

art.

GS/ZP-102R-90-95

art

GS/ZP-102R-180-95

h

%]

66,5 14,5

h

66,5

h

66,5

@

14,5

L)

14,5

art

GS/ZP-104R-95

h

66,5

16}

14,5

D
30

D
30

3]

30

D
30

D1

40

D1

40

D1

40

D1

40

t

t

5

ploss t

glass t
6-12,76
gloss
— =
= 5
dl . A
7
%
h
glass t
8-12,76
gloss
=3
glass t
6-12,76
gloss
=
glasst
6-12,76

241






glass/panel Supply Voltage Power Opening Thrust Glass

lit Finish  Effect 1 .
Quality rnE - o max. (ka) voitage (V) / (A) (W) /closing force (N) panel
U ELOX  GS-AL/ZP-95x50-N-E-MOVE 2580 Y0280 545 120 N 75 1000
Track 2000mm g Track: 0M0nm
‘. Il T T E T = : | h T T X x ¥ _l'l
P e e e ey [
b | I 4, |
| I |
: ' ' |
| | |
" | | A |
4 I I i |
| | |
| | |
< o y e
-« | 7 ' . 7 '
| | T | -]
s | | " |
| Il I Open 850mm
¥ : Automatic [ A Automatic :
o I SLIOING I ° SLIOING |
| |
1 == ; == :
4 [ | | |
4 | | b |
ﬁ - — 1 ﬁ‘ —
L =1100mm Wall 200mm L =100mm Wall 300mm
- o a * s 4 - - a * 4 _ a
i - 4 1,4 50mm Simm Y 3 - = S0mm " “

N i g = 8 o A 4wy = F bt
P 3 - Floor Guie
4 s 4y
Floor Guide Door width 1000mm Door width 1000mm Open B50mm

E.
o
8
Z—:
a2
%

243



SESEENE MANUAL

Components

Quality Finish Effect art. glasst glass max. (kg) STOP
ELOX GS-AL/P8102/N/E-set 8-10 20

Glass preparation
100 | 100
| |
N ] -
o~
+l
L
m
| * @ i
| &
Wl w|
al K
o s + D v
- { o |
{ =}
S
| )
w)
o«
e}
O
a
@
=
c "
= 2000
L2 0 450 450 450 L 450

5= max. 1000

5-25
244



ST MANUAL

Components

Quality Finish Effect art. woodt wood max. (kg) STOP

A RIS ELOX WS/P8101-SET 20-35 80

S |
L
(¥l
=
i
L
[Tal
+
==
]
2000
100 450 , 450 450 , 450 ,

S = max. 1000

5-2%45

245



SYSIENN MANUAL

Components

|
|
|
|
Quality Finish Effect art. glasst glass max (kg) STOP | l
ELOX GS-AL/P8105/N/E-set 8-12 80 g |

Accessories

o o
-
- 3 %
r
l' = *
art. GS-AL/P8105 GS-AL/LN8105/N/E GS-AL/LK8105/N/E
Quantity 1% 1x %

H+215-9

£
O
(@]
a
@
=z
a
== |
73]

3000 - 6000

246



SYSEENE MANUAL

Components

ma § W

+

Quality Finish Effect art. glasst glass max. (kg) STOP
ELOX GS-AL/P8107/N/E-3M 812 80

Accessories

Quantity 1x 1% 2x 2% 2%

65

Glass preparation

13}
@
®)
]
a
0]
=
=
=
72}

247



ISR MANUAL

Quality Finish

(R hatiral

Effect

ELOX GS-AL/PB106/N/E-set 8-12 80

B5-115

o
w

&
i)

o
=%
=|
w0

glasst glass max. (kqg) STOP |

4

Components

Accessories
.
" ="
an GS-AL/PB10B GS-AL/LNB106/N/E GS-AL/LZ8106/N/E  GS-AL/ZP-21x27 GS-AL/LKB106/N/E
. J/N/E-DIEL
Quantity 1x % 1% X 1%
glass t Ouantity/
Profile E L RHAN
B 10 12 pcs
. GS-PVC/ZP-21x27- GS-PVC/ZP-21x27- GS-PVC/ZP-21x27- 3000 5
F B/N/T 10/N/T 12/N/T

3000 - 6000

248

|




ISYSIRNE MANUAL

Components

Quality Finish Effect art glasst glass max. (kg) STOP

LEUET ELOX  GS-AL/P8108/N/E-3M 8-12 80

Accessories

— Ny N

A

=

’\? ' -

Quantity 1x 1x 2x 2x 2x 1x 2x2m
o
<
2
G
T
|I-
\ 2
: | 8-12
| i ~ . Glass preparation
! ! min. 80 . 126
]
| |
| |
1
]
1
|

3000

E.
o
8
Z—:
a2

249






Components

Quality  Finish art. glasst glass max. (kg) STOP

(IEELER  satin | GS-304/P9102/S-set  8-12 120

47
22,
l &
| m1 IﬂT : Glass preparation
E ~+
2 cl = - 5 ’
5 B | 143 A9 o 13
1 an 2
R A
T— 4 = an
gloss t ) = N
5.4
2000 %
- o
& | 500 | 500 | 500 | 8
o, - T T ] o
= ——————-- - :
' @
40 :
s = max. 1000
s-2x40

251



252

Components

‘@ -

= ]
-
Quality  Finish art woodt glass max. (kg) STOP
AISI304 = WS/P9101/S-set 30-40 20
47
%]
&

H+38-10

» 2000 -
&<
© 500 500 500




Finish art L D stop compatibility

art compatibility Quality
GS/P8100-set A/25x2-2000
AISI304 / V2 iz GS/PS100ATA
| - GS/P9100-set GS/PBO0OO WS/P9100-1-

A/25x2-2000

_._A‘_._
wy| o [T
wi< N W
gtk
3BT -
ot
w
] |
)
[— =1
- n
A N -
=)
5._‘ -
8-10
art glasst glass max. (kg)
AISI304 GS/P9100A1A 8-12 60
0 ¢®
=P
o

|

np
j

A

art wood max. (kg)

AlSI304 WS/P9100-1-i 60

253



Components

Quality  Finish art. glasst glass max. (ka) STOP

GS-304/PO201/Sset 10 80

Glass preparation

gy 12 S 9295

o
B

15

7]
o
Q
(®]
a
]
=
a
= |
(%)

!

18

254



255






iQuaIiw Finish art. glasst bxh mounting

R wall/
201/5 810  45x45 oo
—
g
IQuaiily Finish art. glassl bxh maunting_l
AISI304 i5-304/ZP-904/S 810  45x45 Goss

s
)

%)
=
M
<
&)
o
i,
=
(®)
&
”

w» 4 GLASS CUT OUT"8"
¥
U]
S 30 + GLASS 1
Quality  Finish art. glasst bxh mounting |

257



| Quality  Finish art. glasst bxh mountingl

wall/
8-10 45x45 glass ‘

GLASS t

|Clualit)|r Finish art. glasst bxh mounting|

glass/
8-10  45x45 o |

SHOWER CABINS

| Quality  Finish art, glasst bxh mounting |

wall/
810  45x45 oL

258



| Quality  Finish art. glasst bxh mounting_

: i wall/
8-10 45x45 glass

)3/P/Cr

. Quality  Finish 2 glasst bxh mounting!

glass/
810  45x45 TP

5.5
WITH GLASS CUT OUT "A+B" GLASS CUT OUT"A" 9
~ =
<
(©)]
o
2 ]
=
(@)
e
5]
il
2 X2 °
-+ o)
o™~
JJ—_"' 24 + GLASS 1
45 w ! !

| Quality  Finish art. glasst bxh mounting|

glass/

810  45x45 glass

259



| Quality  Finish art. glasst bxh mounting|
GS-ZN/ZP-907/S
‘polish  GS-ZN/ZP-907/P/Cr

wall/
8-10 45x45 glass

glasst bxh mounting |

810 48xa5 Wal/

glass
5.5
7y
c
Q
(@)
O
]
=
O I
= ‘ 2
(7
94
wi 9 2
¥ | :
i
n— . 15 5| o
Quality  Finish art. glasst bxh mounting |

GSZN/ZP-917/S St
8-10 45x45 Qlass

260




30 L

Fammmm e W e I e N
S
» S e | L e Ty s et I (1 sty ey gt
Quality  Finish art. L
A/30x10x1,5-2000-L 2000
polish
A/30x10x1,5-6000-L 6000
38,5 32
[T
=) =
é | |
)
| 8-12
Quality  Finish art.
polish GS-304/ZP-220/P/Cr
' 5.5
E.
30x10 ©
1 .ml
o 19,5

8-12 | 65,5
19 — .
87

Quality  Finish art.
polish GS-304/ZP-221/P/Cr

261



Quality  Finish art

[AEIEDGER polish GS-304/ZP-222/P/Cr

Quality  Finish art.

polish GS-304/ZP-223/P/Cr

e
o

2
i

a

=z
=
==
(%)

262

| Quality Finish art

0 [ R p——

Quality  Finish art

W GS-304/ZP-225/P/Cr

52 (0]
10
17,2
g ]

38

30

F@

21

24

55

8 H

34




a5

1
17.5

(3]

al

Quality  Finish art.

polish GS-304/ZP-226/P/Cr

Quality Finish art.

polish GS-304/ZP-227/P/Cr

[ Quality Finish art,

polish  GS-304/P9802/P/Cr

30

35.5

8-12| |

62,6

10

17.5
30

G

G

30

35,5

38

58

Ax0,15

2D 5.5

62

s
)

13}
@
®)
]
(=]
0]
<
=
=
72}

263



- SWING
DOORS

5.




34

Quality

AISI304 §

\ :
| |
Sk '8 3 /8
| | -
I o
5 @_ | o
PR N 4 = Al
|| 65 o| 55 37 ||
GLASS t 41
Quality  Finish art glass t stop <% %
ti GS-304/D-B-990-1/5-B
AISI304 6-10 45 +90°,0° 950 +15°
polish GS-304/D-B-990-1/P/Cr-B
55
|
| |
I"I
il 2
|
|
| |"'
—
; 5 ) e Gmax e door | o]
Quality Finish art glass t (kg)/2pcs STOP width %
GS-304/D-B-990-5/S-B
AISI304 6-10 45 +90°, 0° 950 +15°
polish GS-304/D-B-990-5/P/Cr-B
64 6.5
18

_9‘0
© ©
e =—— ==l
0
o BB
70 i
e0
56

_ 55 |9 GLASS t
S0
S - S Gmax np  door —14°
Finish art. glass t (kg)/2pcs STOF width %
GS-304/D-B-990-6/5-B
B6-10 45 +80°, 0° 950 +15°
polish GS-304/D-B-990-6/P/Cr-B

265



266

g L 1 RN

= i; ; | -\
|I.
|II ‘ i o
.'\I S
|
s | —

GLASS T 22 =
Quality Finish art. glasst 2ar 't:?;;:’ M

GS-304/D-B-990-2/S-B

AISI304 6-10 45 +980°, 0° 950 +15°

polish GS-304/D-B-990-2/P/Cr-B

Quality  Finish art glass

GS-304/D-B-990-3/S-B

AlSI304 § 6-10 45 +80°, 0° 950 +15°

‘polish GS-304/D-B-990-3/P/Cr-B

| & '-
‘ :; ! r';
& |
o | . y
37
4]
i et . e Gmax np  door —14° ! p
, Quality Finish art. glasst (kg)/2pes STOF width % g
GS-304/D-B-990-4/S-8 i v
AISI304 | 8-10 45 +00°, 0° 850 +15° 6.5 4

GS-304/D-B-990-4/P/Cr-B



| Nt f...
._®|
4 \
i 1|,
\ /&
| |
| " |
T
GLASS t 56 56
Quality Finish art. glass t ‘Kii::"f:ﬂ STOP VUJ::;:T ;?;:; M_ﬂ
GS-MS/D-B-980-2/5-B
- 6-10 45 +90°, 07 a50 +20° +15°
‘polish GS-MS/D-B-980-2/P/Cr-B
50 65
34 4
| | i)
@_ o |‘\I
2o = 3 I %
o N
5 ’ S

Quality

Finish art.

GS-MS/D-B-980-1/S-B

polish GS-MS/D-B-980-1/P/Cr-B

Quality

Finish art.

GS-MS/D-B-980-6/5-B

polish GS-MS/D-B-980-6/P/Cr-B

GLASS e 95 3
39
— Gmax o door zero —i°
glass (kg)/2pcs sroe width angle -
6-10 45 +80°, 0° 950 +20° +18°
50 65
é 4

SWING DOORS

91
75

@

91
64

=
|
i

9 56
&
GLASS t
= Gmax rap | doOf zero e |
glasst (kg)/2pcs STOF width angle %
B6-10 45 +80°, 0° 950 +20° +15°

267



-
aHl

olo
0|0
€
o
8-10 V¥
. 2 i Gmax +°
Quality  Finish art. (kg)/2pcs STOP angle %

‘GS-MS/D-B-1000-1/5

45 +90°, 0°  0°-180° +25°

sh  GS-MS/D-B-1000-1/P/Cr

8-10

. 2 i Gmax 4
Quality  Finish art. _{kg)f?ncs STOP angle %

45 +80°, 0  0°180° +25°

sh  GS-MS/D-B-1000-2/P/Cr

5.6
&
8 40
a 15
0]
= @
=
w
g3 | ©
@5‘} 6,5
| | 8-10
: = Gmax
Quality  Finish art. .{kg}fEDcs STOP angle

GS-MS/D-B-1000-6/S

45 +90°, 0% “.180" 125°
| GS-MS/D-B-1000-6/P/Cr

268



Quality  Finish art.

~ GS-MS/D-B-900-2L/P/Cr

 GS-MS/D-B-900-2R/P/Cr

Quality  Finish art.

 GS-MS/D-B-900-4L/P/Cr

GS-MS/D-B-900-4R/P/Cr

5.5

12
¢

Gmax

(kg)/2pcs

40

Gmax
(kg)/2pcs

40 ‘

1-é (from 90°

6-10

e

GLASS CUT OUT FOR 135°

269

%)
ie
O
(@)
()
0]
Z
%




M
o

lid
O
(o]
a
(5
=
5

270

Quality  Finish art.

GS-304/M-924/S

Quality  Finish art.

AISI304 atin GS-304/M-926/S

Quality  Finish art.

polish GS-304/M-929/P/Cr

P32

028

32

$32

31

@32

&-10

028

32 | | 32

@28

o

222

750-1040

Quality  Finish art. glasst mounting L

GS-304/ZP-925-P/Cr

AISI304 | ;’;‘;é 750-1050
polish GS-304/ZP-925-SN




271



. 5 - GLASS
m WALLS



145

uy
| ™

e

o

o~

o)
o™
=

™

[rs}

162

wy
o)
&
I P
@35 ©®11,5
Quality Finish art.
m ﬂél! GS-304/ZP-802/5-B
£
162
%
Quality Finish art. 1 \6;\,/
m satin  GS-304/ZP-801/S-B )
< T : ~ b
) L e I
o | = i T
mf == I i +
S )
g 7= ;
A
8
- o o]
o~
| |
| 375 | 275 |
40
105

273



0
=
=
@
3
]

274

| Quality ~ Finish

AlSI304 ati

GS-304/2ZP-811/5

art.

Quality  Finish

GS-304/ZP-808/S

i Quality  Finish

art.

AISI304 E:

GS-304/ZP-809/S

52

32-34

52

145

32-34

10-12




| Quality  Finish art. T o
o [ A

812 198

| i ini . Gmax s
Quali Finish art. STOP
| _ (kg) %

100

:00°,0°

AlSI304

o

GS.304/ 08751 38

GLASS WALLS

%08 108

| o
Quality  Finish art. Gmax (kg) ~ STOP %

120
+130°, 0° e

150

275



:
7
3
o

276

Quality

Quality

AlSI304

Finish

Finish

art.

GS-304/ZP-814/S

10-12

61
 32-34

D203

28 158

oz




| Quality  Finish art.

Quality  Finish art. compatibility

GS-304/D-200/S
GS-304/D-207/5

k8 satin  GS-304/D-L18S/S

Quality  Finish art. FAB

GS-304/D-206/S Vs
AlISI304

GS-304/D-206-H/S

65

| Quality  Finish art. compatibility

GS-304/D-L18R/S GS-304/D-206/5

VIEW A

32

e

gl

13

55
oy -—-l
\ij\ ——
L
t

8-12

]
|
e : =
N A ] 7
ST o S‘ é
o
/ |

277



:
7
3
o

278

| Quality  Finish art.

Quality  Finish art.

GS-304/D-207/S

AlSI304

GS-304/D-207-H/S

Quality  Finish art.

FAB

75

27
L1

8-10

58




Quality  Finish art. A B o a b s d H

D8/03 45 120 10 30 65 50 5 15

Quality

Finish art. A B o3 D a b H

D8/04-2-i 80 60 10 &0 3 66 15

_Ouality Finish art. A B 4 a b s d H |

D8/05 50 120 10 30 65 50 5 15|

| Quality  Finish art. A B € a b s d H|
v |
|

AISI304 48 126 8 53 53 388 55 28,5

| /ﬁ Et
LA

279

0
z
=
@
5
(O]




:
7
3
o

280

| Quaiity  Finish art.

GS-304/M1-25-300/S

GS-304/M1-25-400/S

GS-304/M1-25-500/5

polish  GS-304/M1-25-300/P/Cr

| Quality Finish art.

GS-304/M3-20-300/S

GS-304/M3-20-400/S

GS-304/M3-20-500/S
1 GS-304/M3-20-300/P/Cr

Quality  Finish Effect art.

25

20

300

400

500

300

320

420
520

320

axb L

24x24 240

200

300

400

200

300
400
500

300




281



5 GLASS
m WALLS




GS-.../N/B

wll

GS-.../N/B

art
GS-AL/ZP-32x46/N/8
GS-AL/ZP-32x100/N/B
GS-304/ZP-32x46/S
GS-304/ZP-32x100/$
GS-AL/ZP-32x46/N/E 3m

GS-AL/ZP-32x100/N/E

natural ==t

AlSi304 =

natural ESES)S

Quality Finish Effect

natural black
?- L
. AISI304 -

natural ELOX

Finish Effect

1 pes 3m

black

_I_

art

GS-AL/ZP-Z02A-8/N/B
GS-AL/ZP-Z02A-10/N/B
GS-AL/ZP-Z02A-12/N/B
GS-AL/ZP-ZO2AW-8/N/B
GS-AL/ZP-Z02AW-10/N/B
GS-AL/ZP-Z02AW-12/N/B
GS-304/ZP-Z02A-B/S
GS-304/ZP-Z02A-10/S
GS-304/ZP-Z02A-12/S
GS-304/ZP-Z02AW-8/S
GS-304/ZP-Z02AW-10/S
GS-304/ZP-Z02AW-12/S
GS-AL/ZP-Z02A-8/N/E
GS-AL/ZP-Z02A-10/N/E
GS-AL/ZP-Z02A-12/N/E
GS-AL/ZP-ZO2AW-8/N/E
GS-AL/ZP-Z02AW-10/N/E
GS-AL/ZP-ZO2AW-12/N/E

art L

GS-AL/ZP-AO2/N/B
GS-AL/ZP-A02W/N/B

|GS/ZP-A02-i
|GS-304/ZP-A02W/S

3000

GS/ZP-A02-a

GS-AL/ZP-AD2W/N/E

32x46

33x100

32x46

33100

33x100

33x100

32x46

33x100

33x100
33x100

AlSIZ0g

46

100

10

283



H-ol
wy
) L~
L /
" %
S
™,
N | h N
= b T o o
i = b o) ~0
? | N e b
™ g 3 T ERID
e o
NZé - E
o™ 7
= W
N [ \\
N o 4 /
(874
H-of
s o
& m m
| I i
= = o - e
£ €
g ~ 2
0 — pe =)
= = [55]
= g m
w i
— o
g g
m | : Ao
{ B M :
Sy - B
= BTN
...\. o N...
w 0
= wm = ;
3 @ P o 8 |E i g 3
g % z L 518 _ 5P R |
a © o x a - o | Ay N
N d : @ N = 2
§ N = £
214 8 <
b & £ & . =N
! [l 7
(L ™ o 4 £
. J ke \ nﬂn_ (2]
I — - =T
< / P
o | O f y o
= 4 = . e w
- w
2|y \w B :
@ = 4 %
3 28 5 >
. 8 3 o
5 & _, : )
- 5 8 : / :
O o i 7l /! =
E IR | 2
: ) /
= o g

284



20kg/m 810

3000

INOX GS-304/ZP-30x40/P/Cr

/ALUMINIUM  polish

2x3m
AlISI304

9x 1 pos

1%x3m

50

max. 362

max, 362

max. 50

50

285



GLASS t

<
B
E Quality Finish Effect art. A B L g{aﬁst"
| - - | + |
_ INOX GS-AL/ZP-2020/S/VA 20 20 3000 8 10 2x3m
[ GS-PVC/ZP-2020GT-8/N/T i
GS-PVC/ZP-2020GT-10/N/T |
Quality Finish  Effect art. L glass t . + —
ELOX GS-AL/ZP-21x27/N/E 3000 8-12  GS-PVC/ZP-21278/N/T
. GS-PVC/ZP-2127-10/N/T
I GS-PVC/ZP-2127-12/N/T
5.8
-
<
=
]

. Quality art. L glass t
| aspuc/a 8
PVC  GS-PVC/H-10 3000 10
|GS-PVC/H-12 12

286



8-10

&
oo
18 3000
I Quality Finish Effect art. L glass t
(Ul ELOX  GS-AL/ZP-2018/N/E
: 3000 8-10
INOX  GS-AL/ZP-2018/S/VA
18
b
: (o]
=
8-10
Quality Finish  Effect art. L glass t
ELOX GS-AL/ZP-4018/N/E
3000 8-10
INOX  GS-AL/ZP-4018/S/VA
’
=
GLASS t =
(7]
<
(O]
<
. Quality Finish Effect art. A B L glasst
GS-AL/ZP-1510/P/Cr 15 10 2500 6
polish  ELOX GS-AL/ZP-2012/P/Cr 12 8
_ 20 - 3000 -
GS-AL/ZP-2014/P/Cr 14 10

287



6-10

3000

GS-AL/ZP-3535/N/E

2

Left/Right

22x6x100

GS-PVC/ZP-3535-8/N/B

2

GS-PVC/ZP-3535-10/N/B = 3000

GS-PVC/ZP-3535-8/N/B

GS-PVC/ZP-3535-10/N/B

288



A/6925-040

A/6900-020

GS-AL/ZP-27x33/S/E
8-10

328

27

¢

A18,/5042-008

A19/5042-008

GS-PVC/ZP-2733-N/B

5000

1

2500

6000

1

1

289



5 GLASS
w WALLS




o
S ] |
w)
o) 9 ©
= 5
GS-AL/ZG-L-N-E
ALUMINIUM | ELOX 810
GS-AL/ZG-R-N-E
890 2 L
—-—l——
~0
~
ol |
[rs]
o™
35
45
65,
| 60, -
o 0] | QO
o r _* M| 0
N A A S| ]|
o
w
e
5 o
&
|
<
- 26 802 26
SECTION A-A (854)
Bj iC:
DETAIL B DETAIL C
39 15 15 39
18 18|
i 7 5
= s _— —
; O =1
uy
e / o g}L '\.‘[\\_
"E H M~
_SFL* t’ g * 5 o E
15,5 ™

GS-304/D-200/S

GS-304/D-805/S-B

291




o 32
0 $
(o] " % T
e | &
Ty b * g
i T i
u Ty . al
@
o o <
% ¥ ¥ 0z
b =L
v * >
. g 23
L r~
el < LR o
~0 7
40
Quality Finish Effect art
ELOX GS-AL/ZU-N-E
55
32
0,
i =
- oy o
\. z
. L
P t
X o0
( pok <
. +F o
R, A A b
g >
= bt [ ]
- ) " ( ]
m = *
ey o
) 7 -
40
GS-304/D-808/S

292



9 .18
5. -
o ,’/-‘ T Bllns S
™ [,
i3 Sk
- L2 |
GS-AL/ZZ-6000-N-E
ELOX
GS-AL/ZL-6000-N-E
860
=
o
¥}
™
E T
% 28
7 55
65 Qﬁ’-’
60 ab
ST so— 3 o Nm
il A S
3
=
E } '
o
rs)
SR &
= / /
- 13 802 15
SECTION A-A (830)
DETAIL B DETAIL C
GS-304/D-200/S GS-304/D-808/S
A 23 23
I

]
| =

47

8-10

293



_U'Ilil |i|]|
| |
o | o
o | a0 + o] —
RN ol %
L l.s
106

Effect art

ELOX GS-AL/D-808/S

Effect art

ELOX GS-AL/D-809/S

% 56 45 )
o
s 6| =
@ L
| |
[ | IF'] I 1I'I ]
21 !15 85 @
@10 ||| o
-t
08 _|| o
=

art

INOX GS-304/D-805/S-B
- satin 45

ELOX GS-AL/D-8B05/S/E-B

204



295






=1




U"

6 SEGMENT \ | #
= B STAIRS \\ | |




h AlSI304 Fe

NS art. Vi(min) Vs(max) N D d
NS240-N1 140 138
NS240-N2 180 310
240 395 108 v
NS240 NS240 170 190 350
NS240-NV 170 190 350
NS270-N1 130 128
NS270-N2 170 290
270 395 132 v
NS270 160 180 350 v/
NS270
NS270-NV 160 180 350
Alt. 2

SET. = N1+ N2 NS... V...
Stair set NS240(t=40) Stair set NS270(t=40)
art. L e Lo iz vimm)  ns270 Ns270 Ns270 Vo270
e | i | o |2 | G [Aelleez max. min. N1 -N2 -ny AT A2
== I i R e - " _ _ =
360 1x 1x B B _ 340 1x 1x & = =
50 | 520, | % | 2 | ow | - | - 520 500 | ix | ix | 1x .
740 700 x| x| x| - X 0 | 880 | x| x| & s
930 870  1x | 1x | 1x | 1x  2x 880/ | 820 | tx | x| A% | Ix | 2
1120 1040  1x T3 1 ox  ax 1060 980 1% 1x 1x 2% 3x
1810 | 210 | 1x | 1x | x | 5 | 4 1840 | 10 e | B | x| Bk | 4
1500 | 1980 | 4x | % | x| 4 | Bx 1420 1300 | 1x | 1x | 1x | 4x | 5x
1600 1550 35 1x 1x g | Bg 1600 1480 1x 1x 1x 5x  6x
1880 1720 . 1x 1% 1% 8x | T7x 1780 1620 | 1x 1% 1% Bx | Tx
2070 1890  1x 1% 1% 7% | 8x 1960 1780 1% 1x 1% 7x | 8x
2060 2080 1% - 15 ax ox 2140 1940 1x 1x 1x 8x 9x
NS240/V245-223 2450 2230 1x  1x  1x  9ox | 10x 2820 | 2100 | 1x | ix | x| &x | 10«
NS240/V264-240 2640 2400 1x x| 1x  1ox| 11x NS270/V250-226 2500 2260 1x  1x  1x  10x| fix
NS240/V283-257 2830 2570 1x  ix  ix  1ix| 12x NS270/V268-242 2680 | 2420°'| 1x | fx | x | fix] 12«
NS240/V302-274 3020 2740 1x  1x  1x  12x | 13x NS270/V286-258 2860 2580 1x  1x | 1x  12x | 18x
3210 2010 1x | 1x | 1x | 13 14x NS270/V304-274 | 3040 | 2740, | 1x | x | tx | 13x] 14x 6.1

299






A-DIN 914-A2 M5x5 5 5

A-DIN 914-A2 M6x6 5] 5]

\ G H LR R LR
S WEPRIPEPEREERER I,

DIN 7991 M12x30 8.8-Zn 12 30
A-DIN 7991-A2 M5x16 16
A-DIN 7991-A2 M5x20 ° 20
A-DIN 7991-A2 M6x8 8
A-DIN 7991-A2 M6x16 5] 16
A-DIN 7991-A2 M6x20 20
A4-DIN 7991 M5x16 5 16
AISI316 A4-DIN 7991 M8x20 8 20
A4-DIN 7991 M12x30 12 30

- A-DIN 7991-A2 M5x16-Fix 5 16
AlsSI304 raw
A-DIN 7991-A2 M6x8-Fix 8 8
A-DIN 912-A2 M5x20 5
20
A-DIN 912-A2 M8x20 8
raw
A-DIN 912-A2 M12x25 25
12
A-DIN 912-A2 M12x35 35

A-DIN 913-A2 MBx22

A-DIN 913-A2 MB8xB80
AISI304 BE-1E

A-DIN 913-A2 M10x35

A-DIN 913-A2 M10x100

DIN 7380 M10x20 8.8-Zn
A-DIN 7380-A2 M5x12
A-DIN 7380-A2 M6x12
A-DIN 7380-A2 M8x10
AISI304

A-DIN 7380-A2 M8x20
A-DIN 7380-A2 M10x20
A-DIN 7380-A2 M12x20

A4-DIN 7380 M5x12

AISI316

A4-DIN 7380 M8x20

A4-DIN 7380 M10x20

A-DIN 7380-A2 M5x12-Fix

A-DIN 7380-A2 M6x12-Fix

AlSI304 raw

A-DIN 7380-A2 M8x20-Fix

Mo |

steel 8.8 W-DIN 7991 M8x20-P

(AEIEREE  raw  W-DIN 7991-A4 M8x20-P

10

12

10

8

8

20

20

22
80
35

100

20
12
12

10

20

20

12

20

21.5/5

21.5/5

301



steel 8.8 Zn

AlSI316

A-DIN 1587-A2 M6 6
A-DIN 1587-A2 M8 a8
raw  A-DIN 1587-A2 M10 10
A-DIN 1587-A2 M12 12
AISI316 A4-DIN 1587 M10 10
3
wooD/M8-D
steel
woob/M10-D

~ A-DIN 6334V M8x25-A2w 8
A-DIN 6334V M10x25-A2 10

302

DIN 933 M10x30 8.8-Zn 10

raw  A4-DIN 933 M10x30 10

12

15

18

22

18

25

AlsSiao4

AlsI316

AISI304

A-DIN 917 M8

A-DIN 917 M10

A-DIN 934 M8
A-DIN 934 M10
A-DIN 934 M12

A4-DIN 934 M10

i

=

A-DIN 562 M6
A-DIN 562 M8

A-DIN 562 M10

DIN 125 10-Zn

DIN 9021 10-Zn

A-DIN 125-A2 M5

A-DIN 125-A2 M10
A-DIN 9021-A2 M10

A-DIN 125-A2 M12

A-DIN 433-A2 M12

/

3

8 10
10 12
M |
8 6.5
10 8
12 10
10 8
10 3,2
13 4
17 5
2
10
2,5
5 1
2
10
2.5
2.5
12
2



M L

| A-FTT-M5 5 12 Q8/79 A-FTT-...
raw  A-FTT-M6 5 15
A-FTT-M8 8 16,56

s
Yy ., (DINo2iOMSx60A2 B €0 20 & R ew  aoin73sz-azaexeo 20 48
_ A-DIN 9210 M10x100-A2 10 100 30 57
AISI316 A4-DIN 9210 M8x60 8 80 20 37
M M L
A-DIN 7505A 5x20 20 ~ APH5x20 20
5 AISI304 raw 5
A-DIN 7505A 5x35 35 A-PH 5x35 35
= - /() e
L
M L i L D
A-DIN 975 M8 8 Q5/08VHGMS-100/S.. & 100 12
A-DIN 975 M10 10 S Q5/08-VIHG-M10-80/S... 10 80 16
A-DIN 975 M12 12 Q5/08-VHG-M12-125/5... 120 125 20
AlSI316 A4-DIN 975 M10 10 A5/0BVHGME-100/Ad.. & 100 12
AISI316 w I A5/08-VIHG-M10-80/A4... 10 80 16
A5/08-VIHIG-M12-125/A4... 12 125 20

303



A19/27-M6

A19/27-M8

AISI304

A19/27-M10

A19/27-M12

Q5/06-8x100CE

Q5/06-10x120CE
Q5/06-16x123CE
Q5/06-16x138CE

A-Q5/06-10x120CE

6 9
B M
10 13

15 140

12 15 25 130

Q5/08-HAZ-M8-855/S..w

A5/08-HAZ-M8-85S/A4...

Q5/08-TNTRO8-8x52

304

Q5/08-HAZ-M10-1065/8S...

A5/08-HAZ-M10-106S/A4...

M L
8 92
10 120
16 123
16 138
10 120
M | d
8 126 12
M L d D
8 B85 12 20
10 106 15 25
8 85 12 20
10 106 15 25
M L d
8 52 12

AISI304 raw  A5/08-105x11xM8 8 105 M
w
M |
steel 5.8 Q5/08-VM250-M12-135... 12 135
AISI316 raw  A5/08-VM250-M12-135-A4... 12 135
M L

steel raw | Q5/08-FBN12-30 12 126

steel Q5/08-HAZ-MB-80SK/S & 80 12 20,5/5

AISI316 raw A5/08-HAZ-MB-80SK/A4 g8 80 12 20,5/5

Q5/08-FAZ-IG-M10-70/S 10 70 12

raw  A5/08-FAZ-IG-M10-70/A4 10 70 12

D d |
Q5/07-8 NYLON 8 254 40
gray  Q5/07-10 NYLON 10 36 50
Q5/07-12 NYLON 12 48 60



8

=2
43
Flat
LI
G (kg) \;?y
g i T - - max (kg :
Quality Finish art & 2xD16/73-70-000
AlISI316 D16/73-70-000 Flat 50
¥
| | o
©
35 - 66
Flot
[ 1 [ 1
T 11
Quality Fi art @ . 85 :
AISI316 D16/74-70-000 Fat | | b8
= =2
o1 @
|
49
PZQ/\
&)
STl e = Gmax (kg)
Quality Finish art 2xD16/73-70-000
AISI316 B D16/73-70-042 42 4 50 3
}BI&‘
C —)
B B

Quality art

AlSI304 |
AISI316 |

D8/74-70-042

42.4
D16/74-70-042




306

Q5/01GF-300 Nordic
Q5/01GF-400 Nordic
Q5/01GF-300
Q5/01GF-400

PVC

ks

Q5/05TR-310 Silicone

-20°C

Q5/01-WIT-UH300... 320 uretan vinylester -40°C +160°C

Q5/01TK-300 Winter o0’ Q5/01GFP-300 —
Q5/01TK-400 Winter PVC Q5/01GFP-400
Q5/01TK-300

Q5/01TK-400

= wuRTH

Q5/04 M17, h215

Q5/01-WIT-VM250... 200 vinylester -40°C +120°C

Q5/03-300

300ml, hobby

Qs/77

adjustable

Q5/03-400 400ml, profi

Q9/03-0,2x9 02 9 50

Q9/03-3x12 3 12 16,5



{ "

art.
|AL/glass-mont
Quality Finish art
Quality Finish art i HA‘IQID!'I-WC
PVC

AISI304 v A19/model741-8 ' polish A19/04-PVC-L

art M Quality  Finish art M
Q10/Therm-M12/M12 1912 |

|A19/2,5 5 AISI304

<

art

'Q8/95 3-8

307



308

TC

A-DRILL-M5 4
HSS-CO5 A-DRILL-M6 4.8
A-DRILL-M8 6.4

LUSIEDEY A/40580-ECO 42,4

A/FDRILL-M3F

A/FDRILL-M4F
A/FDRILL-M5F
A/FDRILL-M6F
A/FDRILL-M10F
A/FDRILL-M12F

i

A/FDRILL-M3C

A/FDRILL-M4C
A/FDRILL-M5C
A/FDRILL-M6C
A/FDRILL-M8C
A/FDRILL-M10C
A/FDRILL-M12C

Q8/SCREW-M5 Q8/DRILL-4
HSSE Q8/SCREW-M8 «Q8/DRILL-6,5
Q8/SCREW-M10 Q8/DRILL-8

LISIEER A/40580-PLASTIC 42,4 40

A/FTAP-M3
A/FTAP-M4
A/FTAP-M5
HSSE A/FTAP-M6
A/FTAP-M8
A/FTAP-M10
A/FTAP-M12



Fezny hotis
Ctting dise

A/Glue-10g-C
A-DRILL-M5
Q1/RNO1-125x1
Q1/L01-125-40

Q1/Go1
A/spray-Ws
Q/INOX-INSTALL-SET
|
A/Glue-10g-C 10 A/Glue-20g 20 A/Glue-50g-C 50
A
L
1
Wigiue2 Sl wood A/Cleaner-500m| 500 Afspray-Ws 400
Rexny kotug
Cutting disc
L
a®
e L-X=4:
Q1/RNO1-125x1 cutting disc Q1/L01-125-40 flap disc
Q1/L01-125-80 flap disc
Q1/L01-125-120 flap disc
Q1/B02-INOX 345 Pipe cutting ~ Q1/BO2-INOX-RK Q1/B02-INOX Q1/Go1 100 360

309



310

PNL/ASM4-03-12

PNL/ASM2-02-11

RAILING
SYSTEMS

KAT-RAILING-SYSTEMS-2021/2022

PNL/GO3-30x42

PNL/ASM5-02-16

PNL/ASM3-02-11

PNL/ASMB-09-16

( STamg
| RaMNLEsg
Ji PomiNa

¢ O

PNL/ASM1-02-11

A-VR100-5D12-BOX

REK-CASE-INOX3

PNL/GLASS-AD-1-2017



AlSI304 AlSI316 AlSI304 AlSI316

AlSI304

| INOX AlSI 304
—
LY = —_ ] == il B ./ oiny do prostredia bez chibru a oxidu siriéiteho
Y do p
" | | [ [ [ INOX AISI 316
AlSI304 - vhodny do prostredia s vysokym obsahom chléru, oxidu siricitého,
nerezova stal rozsdamentes stainless vysoke] vinkosti, do primorskych regionov
wal clarFewia il atos] Edelstanl INOX INOX S.S. 2205- vhodny do prostredia s vysokym obsahom chidru, oxidu
siricitého,
vysoke] vihkosti s pritomnostou soli na pobrezi a na vofnom mori.
. . . . . P EuEs INOX AISI 304
hinik aluminium aluminium aluminium Aluminium Ll %A= suitable for the environment without chlorine and sulphur dioxide load
= T =1 T T : INOX AISI 316
ZZII?::? S;Tfmciz?::_'l ‘_,zt::;;:l ZAMAC Zinkdruckguss az”:ig; - suitable for the environment with a high content of chiorine, sulphur dioxi-
de load, high humidity, coastal reglons
INOX 5.5. 2205
Zelezo Zelazo vas frony Elsn fer - Suitable for environments with a high content of chlorine, sulfur dioxide,
high humidity with salt on the coast and on the high seas.
" zinok cynk cink zing Zink zinc
= | | s INOX AISI 304
% g ieds e b Missi lait - przeznaczene dla Srodowiska bez dwutlenku siarki oraz chloru
g mosadz mi sargaréz rass essing alton INOX AIS] 316
| | | - przeznaczone dla Srodowiska o wysokiej zawartosci dwutlenku siarki oraz
PVC PVC PVC PVC PvVC PVC chioru, wysokiej wilgotnosé oraz w regionach nadmorskie
1 1 1 1 1 INOX 5.5. 2205
guma guma gumi rubber Gummi gomme - Nadaje sie do Srodowisk o wysokiej zawartoscl chloru, dwutlenku siarki,
o wysokiej wilgotnosci, o duzym zasoleniu, w strefach nadmorskich, lub w
N . bezposrednim kontakcie z wodg morska.
buk buk biikk beech Buche hétre
f— INOX AISI 304
dub dab 1wl K Eiche ché —_alkal hatd olyan komy ben, ahol nincs klar és kén-dioxid terhelés
Y 4 o o2 © ene INOX AISI 316
- alkal hatd olyan kémy ben, ahol magas a klor-, vagy kén-dioxid
smrek Swierk lucfenys spruce Fichte epicea terhelés, magas a paratartalom, tengerparti régickban
T T T T T INOX 5.5. 2205
sklo szkio tveg glass Glas verre -Alkalmazhatd magas klor-, kén-dioxid-, s6s nedvességtartalmi
kimyezetben, valamint tengerparton és a nyilt tengeren®.
brus szlif szalcsiszolt brushed geschliffen brossé
K320 K320 K320 K320 K320 K320 B INOX AISI 304
1 1 1 1 1 - geeignet in Umgebung chne Chior und Schwefeldioxid
strieborny srebro eziist silver Silber argent INOX AlSI 316
| | | | 1 - geeignet in Umgebung mit einem hohen Gehalt an Chior, Schwefel-
. tikar dioxid oder in Umgebung mit hoher Lufifeuchtigkeit, in Kistenregionen
polish lesk polerowany polirozott polished poliert poli INOX S.S. 2205
) [ | . - geeignet fir Umgebungen mit hohem Gehalt an Chlor, Schwefeldioxid
suravy surowy nyers raw rah brossé und hoher Luftfeuchtigkeit mit Salz an der Kiiste und auf hoher See
b N : : . [ ; J § 'NoxAisi 304
% nebriseny neszifovany natir rough ungeschliiffen = non-brossé -Co ble pour les envirc nents sans chlore et/ ou bioxyde de
= soufre
-2 black diemny czarny fekete black schwarz noir INOX AISI 316
= | | | - Canvenable pour les environnements avec un contenu éleve de chlore et/
white biely biaty ke White | Wil bidas ;Llr ‘;l; g,gf;uge soufre, une grande humidité, régions maritimes
S - Convenable au milieu avec un contenu élevé du dioxyde de soufre, ainsi
gray sivy siwy szirke gray grau gris qu'au milieu humide contentant du sel, tel que le bord de mer ou la mer
INOX nerez nierdzewny = rozsdamentes inax Edelstahl inox
ELOX eloxovany anodowany eloxalt elox Eloxiert anodisé
@ potrebné niezbedne szikséges necessary Anpassung ist  modification
upravy przystosowanie . modositas modification notwendig nécessaire
B | | | | |
nem not . non
= th.,—,: nezmontované  niezloZone Sadaret assombled unmontiert Esemble
R = die Abmes- =
priblizny przyblizone e a approximate p dimensions
~ rozmer wymiary REzAlfE TriEnateh dimension SUndera ind approximatives
| | | ungefahr
bestseller bestselier lediobtiar best seller Bestseller best-seller
eladott
novinka nowosé uj new Neuheit nouveau
2021 2021 2021 2021 2021 2021

Skiska v solne] Testowane w  Sos spray teszt  Salt spray test  Salzsprihtest L’essai au

hmle podia  komorze solnej _az IS0 9227 according to nach brouillard salin
Gamin 150 ST o agodnie 2 nroma (NSS) szabvany IS0 9227 (NSS) 1809227 selon IS0 9227
(NSS)

150 9227 (Nss)  Szerit (NSS) (NSS) |

31



312






MIBRA d.o.o.

Slivniska cesta 6
2311 Hoce

Tel.: +386 2 613 0360
Fax:+386 2 613 0375
info@mibra.si
www.mibra.si

SRBIJA

TERBOINOX d.o.0.
Jovana Purana 2
25000 Sombor

Tel.: +381 25421 180
Fax: +381 25421 185
info@terboinox.com
www.terboinox.com

PE Domzale
Studljanska cesta 5
1230 Domzale

Tel.: +386 17295310
Fax: +386 17295 312

prodaja.domzale@mibra.si

www.mibra.si

HRVASKA

KROMINOX d.o.0.
Radnicka cesta 184
10000 Zagreb

Tel.: +385 1 349 82 62
Fax: +385 1 349 85 47
prodaja@krominox.hr
www.krominox.hr

BOSNA IN HERCEGOVINA

INOXIU BH d.o.o.
Ulica Koviljke Prnje 4

78250 Jakupovci, Laktasi

Tele#887/ 51 925 735

GSM: +387 63 296 122



